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LESSON

1.1

For use with pages 3-9

Standardized Test Practice

GA QCC: 4,6

TesT TAKING STRATEGY Read each test question carefully. Always look for short-
cuts that will allow you to work through a problem more

quickly.

1. Multiple Choice Choose the next figure in
the pattern.

/\

>
@
o

@

2. Multiple Choice What is the next number in
the sequence?

2,-1,-4,-7...
A -9 ® -10 Cc 10
D -1 E -12

3. Multiple Choice What is the next number in
the sequence?

0,26,12. ..
(A 18 B 24 £ 20
o 22 E 26

4. Multiple Choice What is the next number in
the sequence?

—-2,4,16. . .
A> 28 (B 26 c —-12
D 256 E 192

Copyright © McDougal Littell Inc.
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5. Multiple Choice Choose the next figure in
the pattern.

A

@ > ©

@@@
2 @

6. Multiple Choice The first three objects in a
pattern are shown. How many blocks are in
the next object?

5 & &

@A 20 ® 25 «c> 30
D™ 36 E 40

L 493dey)

7. Multi-Step Problem Examine the triangular
pattern.

1 3 31
a. Predict the next two rows of the triangle.

b. Describe a pattern for the value of a num-
ber in each row.

¢. Describe a pattern for the number of
entries in each row.

Geometry
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LESSON

1 2 Standardized Test Practice

For use with pages 10-16

GA QcCC: 7,9, 12

Test TAKING STRATEGY Work as quickly as you can through the easier sections but
avoid making careless errors on easy questions.

1. Multiple Choice What does the symb@&C

represent?
A> segmenBC B lineBC
(C> pointB D> rayBC
(E> rayCB

Multiple Choice In Exercises 2-6, refer to
the diagram below.

b a

M
AN N c
W . o d
/Q R A
2. Name a point that is collinear to poifNs
andZ.
A P B O c M
(D> PandX <E- OandM

3. Name a point that lies on lire

A M ® P < Z
D Q E O
4. Name a point that is collinear to poims
andQ.

A M B> N <Y
D X (E> MandY

5. Name a point that is coplanar to liae
(A N B O © R
D Q (E  all of these

6. Name three noncollinear points.

A PY,Q B MNP € MNZ
D Q,R,O E X/N,P

Geometry
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7. Multiple Choice AB and BD intersect at

?
A A B> B © C
D> D ZE_ none of these

8. Multiple Choice PointsW, X, YandZ are
not coplanar. What is the intersection of plane
WXYandWyY2z?

A WK B WY «¢> WandY
(D> The planes do not intersect.
(E> Cannot be determined.

9. Multi-Step Problem Follow the directions
below to sketch the desired shape.

a. Draw a plane. Label the four cornesB,
C, andD, starting at the bottom left and
proceeding clockwise.

b. Draw four parallel linesAE, BF, CG,

and DH, so that each line intersects plane
ABCDonce, and pointg, F, G, andH are
coplanar. PlaneBCD and planeeFGH

are parallel.

¢. Draw EH, HG, FG, andEF.
d. What shape is outlined by the figure?

Copyright © McDougal Littell Inc.
All rights reserved.



LESSON

1.3

For use with pages 17-25

Standardized Test Practice

GA QCC: 7, 8,9, 12, 43,
46

GHSGT: 9, 19, 20, 35

TesT TAKING STRATEGY Sketch graphs or figures in your test booklet to help you
solve the problems. Even though you must keep your
answer sheet neat, you can make any kind of mark you
want in your test booklet.

1. Multiple Choice A rule that is accepted
without proof is called a ?

(A theorem B’ postulate
(e axiom (D> AandB
(E> BandC

2. Multiple Choice Find the length oAC if
ABis 6,BCis 10, andB is betweerA andC.

B 4 B 16 T -4
(D> 60 B 6
Multiple Choice In Exercises 3-7, use the

diagram below where MQ = 30, MN = 5,
MN = NO and OP = PQ.

M N O P Q

3. Find the length 0OQ.

@A 5 B> 10 @© 15
D 20 ‘E 25
4. Find the length oPQ.
@ 5 ® 10 @© 15
@ 20 E 25
5. Find the length oNO.
(A 5 B> 10 € 15
D> 20 E 25
6. Find the length oNP.
A 5 ® 10 T 15
D© 20 B 25

7. Which of the statements below are not true?
(A> NP =MN+ PQ B MP=0Q
(> NQ=MP D> MO = PQ

‘B> MQ=PQ-3

Copyright © McDougal Littell Inc.
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8. Multiple Choice PointH is betweerG and
I. Use the segment addition postulate to so
for xwhenGH = 8x + 7, Hl = 3x — 2, and

Gl = 38, 9

N D
A 3 B 5 © 7 E,
@ 31 E 39 »

9. Multiple Choice In Exercise 8, the length
of HI'is ?

A 3 B 5
D 31 E 39

© 7

10. Multiple Choice Use pointsA(5, 1),
B(5, 6), C(1, 4) andD(4, —2) to determine
which of the following is true.

A> AB=BC B AB=CD
& AB=BD (D0 AC=AB
(E> BC=CD

Quantitative Comparison In Exercises
11-13, choose the statement below that
is true about the given values.

The value in column A is greater.
The value in column B is greater.

o w e

The two values are equal.

The relationship cannot be determined
from the information given.

/
-

Column B

XY whenX(5, 2)
andY(—1, 4)

Column A

11. | ABwhenA(1, 3) and
B(3, —6)

12. | ABwhenA(—2, —4)
andB(3, 2)

13. Xz

XY whenX(-5, 3)
andY(—8, —2)

XY + YZ

Geometry
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LESSON

14 Standardized Test Practice | GHsGT: 29 31

For use with pages 26-32

GA QCC: 8,9

TesT TAKING STRATEGY Avoid spending too much time on one question. Skip
questions that are too difficult for you, and spend no
more than a few minutes on each question.

1. Multiple Choice Angle Ais an obtuse angle
for which measure(s)?

@A 0° < mLA < O
B 0 < mzA < 180°
T 90° < mZA < 180°

N

D mLA = 90°

B msZA = 180°

2. Multiple Choice An angle measurings®
would be a(n) ? .

(AC acute angle ‘B~ obtuse angle
(C> right angle D> straight angle
(E> adjacent angle

3. Multiple Choice Which angle appears to be
a right angle?

C X D ‘

&

4. Multiple Choice Find m£WYZ.

A 5° B> 90°
) i w
Cc 8% (D> 105° X
E  175° 45,
40°
Y 4

5. Multiple Choice Find the measure of
m/ BDC.

(A 185°
B 115
© 25°

(D 175°

35°\ _150°
A

(E> 100°

Geometry
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6. Multiple Choice Plot the pointsA(—6, 4),
B(—1, 1) andC(3,1) in a coordinate plane.
Sketch~ABC. The angle is a(n) ? .

(A> acute angle (B> obtuse angle
(C> right angle ‘D straight angle
'E> adjacent angle

7. Multiple Choice Using the same three points

in Exercise 6, sketci ACB. The angle is a(n)
?

CA> acute angle obtuse angle

B
> right angle (D~ straight angle
(E> adjacent angle

8. Quantitative Comparison Use the
following information.

e Dis interior toABE ¢m/ABD = 50°
e Eis interior toDBF mzZEBC = 90°
e Fis interior toEBC e mz£ABD = mZEBF

Choose the statement below that is true
about the given values.

(A~ The value in column A is greater.
(B~ The value in column B is greater.
.C The two values are equal.

D> The relationship cannot be determined
from the information given.

Column A Column B
m2£ABC m/ABE + m/EBC

Copyright © McDougal Littell Inc.
All rights reserved.



LESSON

1.5

For use with pages 34-42

Standardized Test Practice

GA QCC: 9, 15, 43, 46

GHSGT: 4,31

TesT TAKING STRATEGY Staying physically relaxed during the SAT is very important.
If you find yourself tensing up, put your pencil down and
take a couple of deep breaths. This will help you stay calm.

1. Multiple Choice Find the midpoint of a seg-
ment with endpointé\(3, —2) ang(8, 1).

a® G-) ® &Y © -
® (-3 ® (-3

2. Multiple Choice Find the midpoint of a seg-
ment with endpointé&(—7,3) ané(3, —3).

A (—-2,-3) B (=20
> (—5,0 (D (2,0
E> (—5,—-3

3. Multiple Choice Find the coordinates of the
other endpoint of a segment with an endpoin
of X(13, 5) and midpointM(8, 3).

@ (18,7 ‘B> (18,1)

© (3,7 D@ (31

E> (—29,—11)

4. Multiple Choice Find the coordinates of the

other endpoint of a segment with an endpoin
of X(—2, 3) and midpointM(1, —2).

B (4-7) B (47
© (0,-1) ® (-589
® (4.9

5. Multiple Choice Choose the congruent
angles on the triangle shown.

/Aand /B
/Aand 2 C
/Band £C
AB and AC

B

mo o e >

AB and BC

t

—t

Copyright © McDougal Littell Inc.
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6. Multiple Choice BD bisects/ ABC. If the
m/.DBC = 28°, what is them2ABD?

A 14° B 28 C 56°
D 62° (E> 152°

7. Multiple Choice (TSbisectsAMQR. What
is themZMQR?

L 493dey)

& 260 B 52
© 10 @ 1 M s
E 38 7

Q R

8. Multiple Choice AB bisects/ CAD. Find
the value ofx.

A 2 (B 56
© 5 D 28
E 6

Quantitative Comparison In Exercises 9
and 10, use the diagram below where BD

bisects ~ ABC and BE bisects ~ ABD.
Choose the statement

below that is true
about the given values.

E
28°

D

A The value in col-
umn A is greater.
. C
B> The value in
column B is greater.
(& The two values are equal.
D’ The relationship cannot be determined.
Column A Column B
9. | m£ABE + mzZEBD m/.DBC
10. m/ ABD 180°
Geometry
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LESSON

1.b

For use with pages 44-50

Standardized Test Practice

GA QCC: 8,9, 12

GHSGT: 29, 31

TesT TAKING STRATEGY The mathematical portion of the SAT is based on material
taught in your high school mathematics courses. One of
the best ways to prepare for the SAT is to keep up with
your regular studies and do your homework assignments.

Multiple Choice Refer to the diagram
below for Exercises 1-3.

1. Which angles are a linear pair?

A> sland 22 B s2and 23
© sland 24 D s4and 25
E> /3and 25

2. Which angles are vertical angles?
(A sland £2 B /land £5
> £3and £5 D Zland 24
(E> s4and £5

3. Which angles are supplementary?
A /land 24 ‘B s4and £5
¢ /land 25 (D> BandC
(E> all of these

4. Multiple Choice Two angles are supplement

tary. One angle has a measure that is five le

5S

than four times the other. What is the measure

of the larger angle?
A 19 B 71
D 148

D E 153

© 143

5. Multiple Choice What is them/ 1?
A 45 B 9O°

«C> 55° (D 145°

(B> 155°

35°

Geometry
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6. Multiple Choice Find the value ok.

ST

7
25

@ 133 14

®‘
D 26 B

7. Multiple Choice Two angles are comple-
mentary. One angle has a measure that is
twice the other angle. What is the measure
of the smaller angle?

A> 15 B> 30

D> 60 E> 75

‘Cc 45

8. Multiple Choice Find the value of.

7y + 12)°

‘B> 28
(E 128

A> 10 > 20

(D> 152

Quantitative Comparison In Exercises 9
and 10, use the diagram below and
choose the statement below that is true
about the given value. The m/3 = 76°.

(A> The value in
column A is greater. 5

(B~ Thevalue in column 1 /83
B is greater.

€ The two values are
equal.

(D> The relationship cannot be determined
from the given information.

9 Column A Column B
' mz3 mz1
10.
m/4 The supplement of 1

Copyright © McDougal Littell Inc.
All rights reserved.



LESSON

1.1

For use with pages 51-58

Standardized Test Practice

GA QCC: 12,37, 46

GHSGT: 4,9, 21, 26, 27,
35

TesT TAKING STRATEGY Make sure you are familiar with the directions before
taking a standardized test. This way, you do not need to
worry about the directions during the test.

1. Multiple Choice Find the perimeter of the

figure.
A7 ® 8 ]
@€ 14 @O 16 3 S
E 30 =

2. Multiple Choice Find the circumference of
the circle.(Use w = 3.14.)

(A 18.84ft
‘B 37.68ft
113.04 ft
37.68 ft?
113.04 ft2

o

m o

N

3. Multiple Choice Find the area of a square
with a side of 7 inches.

A 14in. ® 28in.2
D 49in2 E 28in.

> 49in.

4. Multiple Choice Find the area of a triangle
with a base of 8 m and a height of 4 m.

A 19m B 32m? © 16m?
D 16m (B 12m?

5. Multiple Choice Find the area of a circle
with a radius of 9 meter§Use = = 3.14.)

A 28.26 m? (B> 28.26m
(C> 56.52 m? ‘D 56.52m
(E> 254.34 m?

6. Multiple Choice Find the area of the figure.
50.24 cm?
25.12 cm?
401.92 cm?
200.96 cm?

f 16 cm |

°© 0 w3

> 100.48 cm?

Copyright © McDougal Littell Inc.
All rights reserved.

m i

{

7. Multiple Choice Find the area of the figure

“A> 18.84 square unit y
‘B> 9.42 square units pad N
(C> 28.26 square unit [ \

i
(D> 56.52 square units
. . \ 1 / X
(E  88.74 square unit N S

8. Multiple Choice Find the area of the
rectangle defined b(2, 1), B(2, 4), C(6, 4)
andD(6, 1).

CA> 7 square units (B~ 14 square units
(C> 24 square units <D~ 12 square units

(E~ 9 square units

9. Multiple Choice A square with an area of
64 square inches has a perimeter o? .

A 64in. @B 16in. € 32in.
D> 128in. B> cannot be determined

10. Multiple Choice A triangle has an area of
72 square feet and a height of 9 feet. Find

its base.
A> 16 ft B> 8ft € 321t
D> 9ft (E> 341t

11. Multi-Step Problem A rectangular window
pane is 40 inches by 50 inches.

a. Find the area of the window pane.
b. Find the perimeter of the window pane.

c¢. A frame around the window pane is
1.5 inches wide. Find the area and peri-
meter of the window pane, including the
frame. With the frame, by what percent
did the area increase?

Geometry
Georgia Standardized Test Practice Workbook
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LESSON

GA QCC: 5,6, 9

21 Standardized Test Practice

For use with pages 71-78

TesT TAKING STRATEGY When checking your work, try to use a method other than
the one you originally used to get your answer. If you use
the same method, you may make the same mistake twice.

1. Multiple Choice What is the if-then form of (D> If 5x — 2 # 13,thenx # 3.
“A group is a dozen if it has 12 objects?” ‘E> None of the above

-

(A> If a group does not have 12 objects, the
it is not a dozen. 5. Multiple Choice Which of the following

(B> If a group is not a dozen, then it does ngt statements is not true?

have 12 objects. A If x = 4,thenx?® = 16.
© If a group has 12 objects, then it is a B 1fx@= —27 thenx = —3.
dozen. © |If 3,thenx® # —27
(D> A group is a dozen if and only if it has 7 X # —3,thenx® # —27.
12 objects. D If x=2,thenx® = 4.
(E> None of the above (Eo If X2 = 4,thenx = 2.
2. Multiple (;hpice What is the i,nverse of 6. Multiple Choice Use the conditional
“If water is ice, then the water’s temperature statement “If an angle is obtuse, then the
Is 32°F? angle measure38® ” to decide which of the
A~ If water's temperature i82°F, then it is following are true.
lee _ _ _ _ I.  The statement is true.
(B~ If water is not ice, then its temperature i$ I. The converse of the statement is true.
. not32 F . Ill. The contrapositive of the statement is
© If water's temperature is n82°F, then true

water is not ice.

i L . (A | only B~ Il only
(D> Water is ice if and only if its temperature R
is 32°F. @ Nl only D landll
CE> None of the above E  landlll

3. Multiple Choice What is the converse of “If 7. Multi-Step Problem Use Postulate 8 to

you are hungry, then you did not eat lunch?” answer parts (a)—(e).

A If you did not eat IunCh, then you are Postulate 8 Through any three non-
hungry. collinear points there exists

(B> If you ate lunch, then you are not hungry. exactly one plane.

< If you are not hungry, then you ate luncf}. a. Rewrite Postulate 8 in if-then form.

@ You are hungry if and only if you did not b. Write the converse of Postulate 8.

eat lunch.

‘E> None of the above Write the inverse of Postulate 8.

e o

. Write the contrapositive of Postulate 8.

e. Critical Thinking Are the statements
you wrote in parts (a)—(d) true?

4. Multiple Choice What is the contrapositive
of “If x = 3,then5x — 2 = 137"

(A> Bbx — 2= 13ifand only ifx = 3.
B> If x # 3,thenbx — 2 # 13.
> If 5x — 2 = 13,thenx = 3.

Geometry Copyright © McDougal Littell Inc.
Georgia Standardized Test Practice Workbook All'rights reserved.




LESSON
GA QCC: 4,6, 8

2.2

TesST TAKING STRATEGY

Standardized Test Practice

For use with pages 79-85

If you find yourself spending too much time on one test
question and getting frustrated, move to the next question.
You can revisit a difficult problem later with a fresh
perspective.

4. Multiple Choice Which of the following

1. Multiple Choice Given thatz2= /4 and
is true about the conditional statement “If

/.2 = /5, which statement about the diagram

is nottrue? mz1 = 30° and themz£ 2 = 150°, then the
‘A /5= /4 angles are supplementary?”
B s6and/2 are I.  The statement is true.

supplementary. Il. The converse is true.

1/2 3[4 )
© s8and/5 are =Ts 15 1. 'It')?ceors]ga::i%?;nt can be written as a true
supplementary. 7 : 7
D /1=/8 A) | kE/‘ Il c>
(E> s1andz3 are supplementary. ‘@ landil E- L1l and il

5. Multiple Choice Which statement below

2. Multiple Choice What is the biconditional . .
. . 2 ©
form of the statement “If a whitetail deer has would be a true biconditional statement s
antlers, then it is a male deer?” (A> If ZABC measure®0°, then itis a righth:]
®
(A~ A whitetail deer has no antlers if and 7 angle. ;
only if it is not a male deer. B> If two angles are adjacent, then they
(B~ A whitetail deer has antlers if and only if share a common side.
it is a male deer. (C If two squares have the same diagonal
(€ If a whitetail deer has no antlers, then it length, then they have equal sides.
is not a male deer. D> AandC
D> If a whitetail deer is male, then it has (E> All of the above
antlers. o . .
E N f the ab Quantitative Comparison In Exercises 6
‘£ None of the above and 7, choose the statement below that is

3. Multiple Choice Which one of the follow- true about the given quantities.

ing statements cannot be written as a true
biconditional statement?

\A/‘

The quantity in column A is greater.

The quantity in column B is greater.
If the sum of two angles 80°, then they

are complementary.

a
®»
(C> The two quantities are equal.

(D> The relationship cannot be determined

B~ If two angles have the same measure- from the given information.

ment, then they are congruent.

Column B

C If 5x + 7 = 22,thenx = 3. Column A
(D If two angles are linear, then they are The number of lines| The number of lines
supplementary. created by the inter-| that can be drawn
E  If ylies between andz then section of two planeg through any one point
Xy +yz= Xz The sum of two sup-|  The sum of two

plementary angles

adjacent angles

Geometry
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LESSON

2.3

TesT TAKING STRATEGY

For use with pages 87-95

Standardized Test Practice

GA QCC: 4,5, 6

GHSGT: 4

It is important to remember that your SAT score will not

solely determine your acceptance into a college or universi-
ty. Do not put added pressure on yourself to do well. If you
are not satisfied with your SAT score, remember you can

take it again.

Multiple Choice For Exercises 1-3, let p
be “It is raining,” let g be “It is thunder-
ing,” and let r be “We cannot swim.”

1. What isq - p?
CA> If itis raining, then it is thundering.
B  If itis raining, then we cannot swim.
If it is thundering, then it is raining.
If it is thundering, then we cannot swim.

If it is not raining, then it is not
thundering.

Ve o

2. What is the converse @f - g?

If it is thundering, then it is raining.

If it is not raining, then it is not

thundering.

(C> If it is not thundering, then it is not
raining.

(D> If it is not thundering, then it is raining.

(E> If it is thundering, then it is not raining.

o &)

3. What is the contrapositive of - q7?
A~ If it is thundering, then we cannot swim.

(B~ If we can swim, then it is not thundering
> If we cannot swim, then it is not
thundering.

D> If we can swim, then it is thundering.

(E~ Ifitis not thundering, then we can swim
4. Multiple Choice The statementp — ~r

could be ?

A> theinverse of - p

(B> theinverse ofr - ~p

© the contrapositive af — p

(D the converse af - p

(E~ the contrapositive ofr - ~p

Geometry
Georgia Standardized Test Practice Worklbook

5. Multiple Choice Which law of logic allows
the conclusion given the true statement?
“If it is Saturday, then Nina’s family rents
movies. Today is Saturday, therefore Nina
concludes her family will rent movies.”

Law of Detachment
Law of Syllogism
Inductive reasoning
Deductive reasoning

moe ey

None of the above

6. Multiple Choice Which law of logic allows
the conclusion given the true statement?
“For the past 4 weeks the ski club has gone
skiing on Friday nights. Wendy concludes
that the ski club will go skiing this Friday.”

Law of Detachment

® &

Law of Syllogism

Inductive reasoning

U !
N

Deductive reasoning

)

(E> None of the above

7. Multi-Step Problem Letp be “You get
caught exceeding the speed limit,” tebe
“You will get a speeding ticket,” and letbe
“You will pay higher insurance rates.”

a. Write p - q in words.
b. Writeq - r in words.

c¢. Write the contrapositive gb — g in
words and symbols.

d. Writing Use the Law of Syllogism and
the statements from parts (a) and (b) to
write a new conditional statement. How
does the Law of Detachment apply?

Copyright © McDougal Littell Inc.
All rights reserved.



LESSON

24

For use with pages 96-101

Standardized Test Practice

GA QCC: 1, 2, 6, 43

GHSGT: 3, 4, 38

TesT TAKING STRATEGY Do not panic if you run out of time before answering all
of the questions. You can still receive a high test score
without answering every question.

1. Multiple Choice Which property of equality
matches the conditional statement “If
AB = BC andBC = CD, thenAB = CD? "
C(A>  Addition property
(B> Symmetric property
(C> Reflexive property

D~ Substitution property
(E> Transitive property

2. Multiple Choice Which property of equality
matches the conditional statement “If
mzZX = m£Z, thenmZZ = mz£X?”

Addition property
Symmetric property
Reflexive property
Substitution property

mo e w3

Transitive property

3. Multiple Choice Solvebx = —10, then
choose the property that applies to the
required step.

>

Substitution property
Addition property

A
o ®w

€

Division property

~
E ;

Distributive property

m

Reflexive property
4. Multiple Choice Solvex — 7 = 10, then

choose the property that applies to the
required step.

(A~ Substitution property
B’ Addition property

Division property

5 6

Distributive property

g

Reflexive property

Copyright © McDougal Littell Inc.
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5. Multiple Choice Which property of equality
matches the conditional statement “If
XY + AB = 15andXY = 5, thenAB = 10? "
(A> Substitution property

(B> Addition property

“C> Division property

D Distributive property

(E> Reflexive property

6. Multiple Choice Use the Multiplication
property of equality to complete “If

m/A = 15°, thendmzA) =  ?
A 15 B> 30° C 45°
D 60° E 75

Z 193deyH

7. Multi-Step Problem In the diagram,
m/ ABE = m/ EBC andm/ EBD =
m/.DBC.

State a reason that makes each statement true.

A
E
D

B c
a. mZEBC = m2£EBD + m/DBC
b. m2ZABE = mZEBC
c. m£ABE = mZEBD + mzDBC
d. m2ZEBD = mZDBC

e. m/ABE = m/EBD + m/EBD
m/ ABE = 2(m/ EBD)

g. Writing Use parts (a)—(f) to write an
argument for “IfmZABE = m/EBC and
m~£EBD = mz£DBC, thenm£ABE =
2(m/EBD).”

=h
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LESSON

GA QCC: 4,6, 9

2.5

Standardized Test Practice | GHsGT: 5

For use with pages 102-107

TesT TAKING STRATEGY Make sure that you are familiar with the directions before
taking a standardized test. This way, you do not need to
worry about the directions during the test.

1. Multiple Choice In the diagramWX = YZ.
Find the length oXZ.

5. Multiple Choice In WXYZ, WZ = XY.
What is the value of?

5x+1 9x-3 11 w X
w X Y )4
. ) x — 14 3X + 2
A 11 B 2 «© 15
D 4 (E> 26 z y
A 1.6 B 3 @€ 0.25

2. Multiple Choice In the diagramAB = DE

andBC = CD. Find the length «EE. D 12 E 4

3x+2 6y—-7 y+8 1lx—6 Quantitative Comparison In Exercises 6-8,

>0

B C D E use the diagram below to choose the
o ) ) statement that is true about the given
A 11 (B> 22 «C 10 value.
D 16 ‘B 5 “A> The value in column A is greater.
3. Multiple Choice In KLM, KL = LM, and (B> The value in column B is greater.
KL = 8, andKM = 8. Give a reason wh§L € The two values are equal.
andKM are congruent. D.  The relationship cannot be determined
(A> Reflexive property L from the given information.
(B> Symmetric property X Yy 5 Z
C Definition of congruent
segments 5
N K M
(D> Transitive property
(E> Addition property w v
Given: Y is the midpoint ofXZ,
4. Multiple Choice In the figure from Exercise XW = ZV, andXZ = WV.
3,KL = LM andLM = KM. Give a reason
thatKL = KM. Column A Column B
(A~ Reflexive property 6. wy YV
(B> Transitive property 7 WV 3(2V)
“C> Symmetric property
. _— 8. WV + zv 2(XY) + 2(YZ)
D Definition of congruent segments

Addition property

Geometry
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LESSON

26

For use with pages 109-116

Standardized Test Practice

GA QCC: 6, 8,9

GHSGT: 4

TesT TAKING STRATEGY Staying physically relaxed during the SAT is very important.
If you find yourself tensing up, put your pencil down and
take a couple of deep breaths. This will help you stay calm.

1. Multiple Choice Two angles/1 and 2 are

complementary. I.1 i27°, what ig2?
A 27 B 54 ©
D 63 ‘e 153

2. Multiple Choice Two angles/1 and 2,

are supplementary to3. #hz/1 = 85°, then
mz1+m/3=_ 7

A 85° ‘B 170° c 9
‘D 265° E 180°
3. Multiple Choice What ismz2 if

mz/1 = 35°.

2/

@ 35° B 70° © 9
(D 145° (E 55°

4. Multiple Choice If m£3 = 126° then

m/2=_2

A 63 ‘B 64

C> 126° D 128

E 3 s
4

5. Multiple Choice Solve forx in the diagram.

© 8 (D 16
E> 1

(3x + 2)°X(13x — 18)°

Copyright © McDougal Littell Inc.
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6. Multiple Choice Solve fory in the diagram.
@ 20
(B> 45
¢ 51
‘D> 78
(E> 102

7. Multiple Choice Given that21 is not a
right angle,~1 and.2 form a linear pait,3
and /4 form a linear pair, and1l and3
are vertical angles. Which statement below
nottrue?

A mzl1l+ mz4 = 180°

Q
® msL3+ ms4 = 180° 2
C© 12=/4 §
DO ms2 + mz4 = 180° &
B> /1=/3

Quantitative Comparison In Exercises
8-10, choose the statement that is true
about the diagram. In the diagram,
/4=/,5,m/3 =40°, m/6 = 120°, and
m/3+ m/5+ m/9 = 180°.

e

@~ The value in

column A is

greater. 11 5\4
B> The value in

column B is 1079 5\ 6

greater. 7\8
© The two \

values are equal.

D> The relationship cannot be determined
from the given information.
Column A Column B
8. mz1 4(ms7)
9. m/9 m/.11
10. 2(mz 4) mz 10
Geometry
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LESSON

3.1

For use with pages 129-134

Standardized Test Practice

GA QCC: 8,09, 11, 12

GHSGT: 29

Test TAKING STRATEGY Work as quickly as you can through the easier sections, but
avoid making careless errors on easy questions.

1. Multiple Choice In the diagram, how many
lines can be drawn through poXthat are
skew to linea?

B o X
© 2 D 3
(E> More than 3 a

Multiple Choice In Exercises 2-5, use the
diagram below.

a
1/2
3[4
5/6

7/8

2. Which angles are corresponding angles?

A slandzs5 (B> s4and~6
€ s2ands6 (D> AandB
‘E> AandC

3. Which angles are alternate exterior angles?

A /2and/8 B s2andzs7
@© s3andz8 ‘D AandB
.E. AandC
4. Which angles are consecutive interior angles”
A s/3andz5 (B> s4andz6
C /3andz7 (D> AandB
(E> AandC
5. What type of angles ate4 andb?

\A S

Corresponding angles
Alternate exterior angles
Alternate interior angles
Consecutive interior angles

moow®

Consecutive exterior angles

Geometry
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?

Multiple Choice In Exercises 6-8, use the
diagram below. Think of each segment as
part of a line.

I J
// IG _______ 1+
Cf= 5
L
A B
6. ACandHF are 2
(A> perpendicular B~ skew
(C parallel (D> intersecting
(E> None of these
7. Which lines are skew t&F ?
@& DHandJH B CAandIG
¢ CbandGH @ AandB
(E. BandC
8. Which lines are perpendicular ©G?
@& CbandCA B GHandEF
(¢ HFandCA (D AandB
(E> BandC

9. Multi-Step Problem Use the diagram below
to answer parts (a)—(d). Think of each seg-
ment as part of a line.

E H
A ! D
[
_f)E _____ 7 °
B C

Name all lines parallel té\D.
Name all lines skew t&-G.
Name all lines perpendicular BF.

. Critical Thinking If you did not know
£ ABC was a right angle, which answers
above would be affected?

Copyright © McDougal Littell Inc.
All rights reserved.
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LESSON

32 Standardized Test Practice

For use with pages 136-141

GA QCC: 6,9, 12

GHSGT: 29

TesT TAKING STRATEGY Avoid spending too much time on one question. Skip ques-
tions that are too difficult for you, and spend no more than
a few minutes on each question.

1. Multiple Choice Find the value ok.

(A> 55 B 35

© 9 D 145 .
X

\/E\ 125 55°

2. Multiple Choice Find the value ok.
@ 25 B 50

—_—

«C 90 D 65

(E~ 155
25°

3. Multiple Choice b
Which of the follow-
ing must be true if 2
alb? s/

. ZlandZ2 are
complementary.

. ms1+ ms2 < 180°

. mz1=ms2

CA> 1 only ‘B> Il only
C> landll D landll
@E& I, lI,and Il

4. Multiple Choice Find the value ok.
35

70 35°
55 Ve

x| ]

110
90

meoe® s

Copyright © McDougal Littell Inc.
All rights reserved.

5. Multiple Choice Find the value o from

Exercise 4.
A 35 ‘B> 70 @ 55
‘D> 110 E> 90

Quantitative Comparison For Exercises
6-8, use the diagram below. Choose the
statement that is true about the given
values.

Given: x Ly y
mzs5 = 35°
(A> The value in 2

column Ais 7/6 X
greater.

The value in

column B is

greater.

(€ The values are equal.

(D> The relationship cannot be determined
from the given information.

Column A Column B

6. ms2 + mz4 mZ6
Q
7. mz1 + mzs2 mZ3 + ms6 %
~
8. m/3 m/5 g
()

Geometry
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LESSON

GA QCC: 1,9, 11, 12,
15

33 Standardized Test Practice | GHsGT: 429

For use with pages 143-149

TesT TAKING STRATEGY Sketch graphs or figures in your test booklet to help you
solve the problem. Even though you must keep your
answer sheet neat, you can make any kind of mark you
want in your test booklet.

Multiple Choice For 5. Multiple Choice Which of the following is
Exercises 1-4, use the \kz nottrue whera || b?
diagram at the right, 3\4 2 A /1= /5and
where a| b. J4=,8 1A ]
5\6 ., _ 3/4
1. Choose the reason 7%‘ b B mi2=m.6
the statement “If the © ms1+ ms5= 5/6
mz1 = 85, then 180° 7/8 b
m/5 = 85™ is true. D M4+ ms6 =
(A> Alternate Interior Angles Theorem 180°
(B> Alternate Exterior Angles Theorem B> ms4=ms8
€ Consecutive Interior Angles Theorem Quantitative Comparison In Exercises 6-8,
‘D> Vertical Angles Theorem
(E> Corresponding Angles Postulate Choose the statement that is true about the

given values.

2. Choose the reason the statement “If the

m/3 = 55°, thenmz5 = 135°” is true. 1250/
CA> Alternate Interior Angles Theorem 4/5 6 7 a
(B> Alternate Exterior Angles Theorem
. _ 8/9 10/11
C Consecutive Interior Angles Theorem /13 /15 b
D> \Vertical Angles Theorem
(E~ Corresponding Angles Postulate (A> The value in column A is greater.

(B> The value in column B is greater.
.C The two values are equal.
‘D> The relationship cannot be determined from

3. Choose the reason the statement “If the
m/2 = 110°, thenm27 = 70° " is true.

(A~ Alternate Interior Angles Theorem the given information.
(B> Alternate Exterior Angles Theorem
L Consecutive Interior Angles Theorem Column A Column B
D \Vertical Angles Theorem 6. ms2 m-8
(E~ Corresponding Angles Postulate 7.| ms10+ ms6 ms3 + ms12
4. If thems6 = 120°, then thenz3 = ? 8 ms4 m. 14
(A 60° B 120° € 180°
D 9 (E> cannot be determined
Geometry Copyright © McDougal Littell Inc.
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LESSON

GA QCC: 6,9, 11, 12

34 Standardized Test Practice | GHsGT: 29

For use with pages 150-156

TesT TAKING STRATEGY When checking your work, try to use a method other than
the one you originally used to get your answer. If you use
the same method, you may make the same mistake twice.

1. Multiple Choice t 4. Multiple Choice What value ok would
Which postulate or make linesyv andv parallel?
';(hﬁ);em would prove % A 30 \
T . ‘B 20 2 4
(A~ Consecutive B
Interior Angles \ y € 60
Converse (D> 40 4
(B> Corresponding Angles Converse ‘E° 50 (Bx + 6°)°\
“C> Alternate Interior Angles Converse
. . o -
D Alternate Exterior Angles Converse 5. Multl?_l)e Crl?lce Which lines are parallel”
(E- Cannot provex|y with given information A E(_I?” liD £ F
B AE| CF M /&
. . o o 30°
2. Mul_tlple Choice @© EF| BC 2 5 C >
Which postulate or D BandC
theorem would prove -
a| b? - (E> All of the above

(A> Consecutive
Interior Angles
Converse

6. Quantitative Comparison Use the
b diagram below to find the values of

_ x and y that would make a | b.
Corresponding Angles Converse

\B)

(€ Alternate Interior Angles Converse
‘D Alternate Exterior Angles Converse
(E> Cannot provea| b with given informatior

3. Multiple Choice t
Which postulate or /
theorem would prove 142° X Choose the statement that is true
x|l y? 28° about the given values.

(A> Consecutive / Y (A> The value in column A is greater.
Interior Angles (B~ The value in column B is greater.
Converse e

B . (€ The two values are equal.

‘B Corresponding Angles Converse (D’ The relationship cannot be determined

(C> Alternate Interior Angles Converse from the given information.

(D> Alternate Exterior Angles Converse Column A Column B

“E> Cannot provex|y with given information X y

Copyright © McDougal Littell Inc. Geometry

All rights reserved. Georgia Standardized Test Practice Workbook




LESSON

GA QCC: 1,9, 12, 15

35 Standardized Test Practice | GHsGT: 429

For use with pages 157-164

TesT TAKING STRATEGY It is important to remember that your SAT score will not
solely determine your acceptance into a college or univer-
sity. Do not put added pressure on yourself to do well. If
you are not satisfied with your SAT score, remember that

you can take it again.

1. Multiple Choice Complete the following to
make a true statement. “In a plane, if two
lines are  ? to the same line, then they
are  ?  toeach other”

“A> perpendicular, parallel
(B> perpendicular, perpendicular
© parallel, parallel
(D> parallel, perpendicular
(E> None of these
> \I\//Ivllflli?:ﬂlih(e:gfgr:r? or \ 30° J
postulate shows|| K? 30° \K
A Alt. Int. 4 n
Converse
B> Cons. Int.4 Converse
C Alt. Ext. 4 Converse
(D> Cons. Ext.4s Converse
(E- Corresp.4 Postulate
3. Multiple Choice t
\é@tcu?attge?ﬁiwﬁ|ﬁ<? /7/ J
A> Alt. Int. 4 /7/ K
Converse
B Cons. Int.4 /
Converse

Alt. Ext. 4 Converse
Cons. Ext.4 Converse

m e e

Corresp.4 Postulate

Geometry
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4. Multiple Choice Which of the statements
must be true ifl|| b and| y?

. ms1=ms5

Il. ms3+ ms5
= 180°

. ms7 + ms8
= 180°

A~ 1only

.C. Il only

g

(E> All of the above

5. Multiple Choice Determine which lines
must be parallel.

A alb a\

‘B c|d

> cfe K\ k\ d
(D> AandB \\

(E> AandC \ \

6. Multiple Choice What value o makes
allb?

Ao 10 a b
B> 30
© 50

O/ T
X

an 7]

(E- 90

7. Multi-Step Problem Givenall b, m|| n, and

(2x — 30)°

alm m n
a. Provea L n.
—I a
b. Proveb L n. 1 3
516 b

Copyright © McDougal Littell Inc.
All rights reserved.



LESSON

3.6

For use with pages 165-171

Standardized Test Practice

GA QCC: 12, 44

GHSGT: 29, 43

TesT TAKING STRATEGY Read each test question carefully. Always look for short-
cuts that will allow you to work through a problem more

quickly.

1. Multiple Choice Find the slope of the line
that passes through, 2) aff| —1).

A1 B -1 © -3
D 3 B 2

2. Multiple Choice Which equation of the line
has a slope of 5 and passes through point
(—=2,1)?

A y=5x—11 B y=5x—2
C y=5%-9 D y=5x+11
(Eo y=11x+5

3. Multiple Choice Which equation of the line
has ay-intercept of 6 and is parallel to
y=—3x+2?

A y=-x-6 B y=3x—6
© y=-x+6 @D y=3x+6
E y=2x+6

4. Multiple Choice Which equation of the line
passes throug(8, —2) and is parallel to

y=§x’?

A y=5%-2 B> y=3%x+3
> y:%x—4 D y:%x
E y=5x+4

5. Multiple Choice Which of the following is
an equation of a line parallel fy — 8 = 3x?

A y=-x+6 B y=3x+2
© y=-%x-1 @O y=3x—4

E y=3x

Copyright © McDougal Littell Inc.
All rights reserved.

6. Multiple Choice Which lines are parallel?

Y]
(=2.7) (0, 6)
N
(_31 g)\\\
N (0, 3) (9
N
(-3,2) ™
N0, 0) X
AR
a
A alb B blc . allc

{D> None E> A3

7. Multiple Choice A line k has equation
y = —3x + 1. If k| i andi passes through
point (4, 1), what is the equation &?

B y=-X%+4% B y=-3x+4
© y=-%+4 D y=5x+%
E y=-%+1

Quantitative Comparison In Exercises 8

and 9, choose the statement below which

is true about the given values.
CA> The value in column A is greater.

(B> The value in column B is greater.

(€~ The two values are equal.

O

from the given information.

The relationship cannot be determined

£ 491dey)

Column A Column B

The slope of the lin
passing through
(7,3) and(11, 2)

The slope of the
8. | line passing througl
(7,5) and(4, 6)

D

They-intercept of th
line passing throug
(=1,2) and(4, —1)

They-intercept of

3
y = X

(%]

=
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LESSON

3.1

For use with pages 172-178

Standardized Test Practice

GA QCC: 2,9, 11, 12,
44, 46

GHSGT: 43

TesT TAKING STRATEGY Do not panic if you run out of time before answering all of
the questions. You can still receive a high test score with-
out answering every question.

1. Multiple Choice Which is the slope of a

line perpendicular to the line= —2x + 6?
B’ 2 B 3 © -3
D> —6

E -3

2. Multiple Choice Which equation of a line is
perpendicular ty = —2x — 3?
A y=-%+3 B y=-3x+2
€ y=-x%+3 @ y=3x+3

E y=%x+6

3. Multiple Choice The product of the slopes
of two nonvertical perpendicular lines is

?
A 0 ® 1 © -1
o 2 (E_~ Cannot be determined

with given information

4. Multiple Choice A line k has equation
y = —%x + 3.If k L I and| passes through
point (4, 3), what is the equation of lin@
W oy-Ex-f B oy-dx+d
C y=2x+3 D y=-Ex+¥

B y=%x+177

5. Multiple Choice A linei has equation
y = %x. If i L jandj passes through point
(6, 2), what is the equation ¢?

A y=-2x+14 ® y=-2x-14
© y=-2x—-10 @ y=-2x+10
E y=-3x+10

Geometry
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6. Multiple Choice Which lines are perpen-
dicular?

A y=3x+6 B y=3Xx+3
y=—-3x+1 y=95x—-3
€ y=5%+3 D y=2x+3
y=—%x—1 y=%x—2

E~ None of these

7. Multiple Choice Which of the following
statements are true about lives, p, andz?

w: y=%x+2
n: y=§x+6
p: y=—%x—3

z y=%x+1

Lwip I.nfz NH. zLp
(A> lonly (B~ Il only
.C~ Il only D landll
E> lland Il

8. Multi-Step Problem

a. On a coordinate plane, plot poim$2, 1)
andB(5, 2).

b. Find the equation of the linepassing
through pointsA andB.

¢. Find the equation of the ling perpendicu-
lar to linex and passing through poiAt

d. Find the equation of the ling parallel to
line y and passing through poiBt

e. Critical Thinking If the bottom of a
rectangle lies along ling and its sides lie
on linesy andz, find the slope of the line
representing the top.

Copyright © McDougal Littell Inc.
All rights reserved.



LESSON

4.

TesST TAKING STRATEGY

For use with pages 194-201

Standardized Test Practice

GA QcCcC: 10, 13

GHSGT: 22, 29, 31

If you find yourself spending too much time on one test

question and getting frustrated, move on to the next ques-
tion. You can revisit a difficult problem later with a fresh

perspective.

1. Multiple Choice A triangle with three acute
angles and no congruent sides is? .
CA> an equiangular triangle
(B> aright triangle
C> anisosceles triangle
‘D’ an obtuse triangle
(E- an acute scalene triangle

2. Multiple Choice A triangle with side
lengths of 5¢cm, 3 cm, and 5 cm is?
(A> an equilateral triangle
(B> an obtuse triangle
(C an isosceles triangle
(D~ an acute triangle
(E> a scalene triangle

3. Multiple Choice The triangle below can be
classified as  ? .
(A~ acute isosceles
(B> acute scalene
(C  obtuse isosceles
(D obtuse scalene H

CE> right scalene

4. Multiple Choice The triangle below can be
classifedas  ?

acute isosceles

acute scalene

obtuse isosceles

obtuse scalene

right scalene

C

™\

)0 >

™

5. Multiple Choice An isosceles triangle has a

perimeter of 82 cm. The lengths of the legs ¢

the triangle are represented® + 2)  and
(5x — 14). Find the length of the base of the

=

triangle.
(A 8cm ‘B> 16cm © 26cm
D 30cm ‘E’ 52cm

Copyright © McDougal Littell Inc.
All rights reserved.

6. Multiple Choice Find the measure of
/ BCD.

(A) 500 D
B> 120°
(€ 60°
D> 160°
E 20°

(3x + 10)°

40°

2x + 20)°
A B( )

7. Multiple Choice Find the measure of 1.

A 40° 40°
B T0°
€ 80
‘D> 140°
(E> Cannot be determined

8. Multiple Choice Find the measure of1.

A> 50° E
.

@B 90°
T 60°

9. Quantitative Comparison Choose the
statement below which is true about

D 30°

E. 85°

the given number.

(A> The value in column A is greater.
(B> The value in column B is greater.

(C> The two values are equal.

(D~ The relationship cannot be determined

from the given information.

v 193deyd

A
3
125°/1 2 2N\ []
30°
Column A Column B
mz1 ms2
Geometry
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LESSON

4.2

TesT TAKING STRATEGY

For use with pages 202-210

Standardized Test Practice

GA QCC: 10, 14, 16

One of the best ways to prepare for the SAT is to keep up

with your regular studies and do your homework.

1. Multiple Choice If AABC = AXYZ, which
of the following statements belownettrue?

@A /B=,Y ‘B AB=XY
¢ /CBA=/ZXY D AC=XZ
‘E> /BAC = ,YXZ

2. Multiple Choice In the diagramAEFG =
AHIJ. What is the measure afH?

F /
B5°
35°
E G J H
A 35 B 65° > T0°
(D 80° “E> Cannot be determined

3. Multiple Choice In the diagram in Exercise
2,EG=_?

(A HI B HJ
D FG B>

> J
Cannot be determined

4. Multiple Choice Given/ZX= N and
/Z= /0, find the value ok.

N
Y

20°

75°
X zZ (5x — 10)°

o)

A 19 (B> 38 C 95
D 85 (E> 20

5. Multiple Choice Use the diagram in
Exercise 4 to finan/ Z.

@A 19° B 38 Cc 9%
D 85 B> 20°
Geometry
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6. Multiple Choice Given/M = /B and
/K= 2C, find the value ok.

K B
Q
‘ (3x - 5)
M L
A C
A 43 B> 40 © 82
‘D> 58 E 29

Quantitative Comparison In Exercises 7
and 8, use the given information to find
the indicated value. Choose the statement
below that is true about the given value.
“A> The value in column A is greater.

(B> The value in column B is greater.

(C> The two values are equal.

(D> The relationship cannot be determined
from the given information.

Given: ABCD = EFGH

50°,F
4:‘ F
H G
Column A Column B
7. X y
8. m/.CBD m/. GHE

Copyright © McDougal Littell Inc.
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LESSON

4.3

For use with pages 212-219

Standardized Test Practice

GA QCC: 6, 14, 15, 16

GHSGT: 4, 22

TesT TAKING STRATEGY Work as quickly as you can through the easier sections, but
avoid making careless errors on easy questions.

1. Multiple Choice Use the diagram below.
Which additional congruence is correct to
prove AABC = ADEF?

C
F E

BC = FE by SSS Congruence Postulate

AorB
BorC

CLTE

7
\r“‘
N

2. Multiple Choice Use the diagram below.
Which congruence is correct to prove
AXYZ = AIKL?

X J
z][\\y K//XE
A> 2Y= /K by SAS Congruence Postulate
B> XY= JK by SAS Congruence Postulate
(€ ZY =LK by SAS Congruence Postulate
D AorB
(E. BorC

Multiple Choice Use the following
choices to complete the proofs that
AABE = ADBC and AAED = ACDE.
Given: B is the midpoint of EC and AD.

/B = /E by SAS Congruence Postulate

/A= /D by SAS Congruence Postulate

D

@ Given A c

‘B> Def. of midpoint

‘C Reflexive Prop. of &
Congruence

(D SSS Congruence E D
Postulate

(E> SAS Congruence Postulate

Copyright © McDougal Littell Inc.
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Statements Reasons
a. AE=CD a. 3.
b. £AED = /CDE b. 4.
¢. ED=ED c. 5.
d. AAED = ACDE d. 6.
Statements Reasons
e. Bis the midpoint e. 7.

of AD and EC.
f. BC = BE, f. 8.

AB = BD
g. AABE = ADBC g. 9.

10. Multiple Choice In rectangleABCD, a
diagonal is drawn fromB to D. Which state-
ment is not true?

(A> «DAB= /BCD (B> £ABD = ~CDB
© AB=BC (D> DB=DB
® +,ADB= /CBD

11. Multiple Choice In AMNO andAXYZ,
MN = XY andNO = YZ. If the triangles are
congruent, what else must be true?

A /N=,Y B /M=s2Z
€ MO=XZ (D> AandC

(E~ All of the above

12. Multi-Step Problem

C
B

F
E
a. Prove thah\ADF = AADB.
b. Prove thatAACD = AAED.
c. Prove thatABCD = AFED.

Geometry
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44

For use with pages 220-227

Standardized Test Practice

GA QCC: 1, 6, 14, 15,
16

GHSGT: 4, 22

TesT TAKING STRATEGY Do not panic if you run out of time before answering all
of the questions. You can still receive a high test score
without answering every question.

1. Multiple Choice Which postulate or theoren
can be used to prove thahBC = ABAD?

A SSS b
(B> SAS
ASA
AAS
none of the above B

c

2. Multiple Choice Which postulate or theoren
can be used to prove thaEFG = AIHG?
E

.y

!
B> SAS € ASA
(E> none of the above

SSS
AAS

A
®‘
3. Multiple Choice What is the third congru-

ence needed to prove thafBD = ACBD b
AAS?

(A AB=BC B

B +ABD = ~CBD

(¢ AD=DC

(D «DBA= /CDB

(E- BorC A D c

4. Multiple Choice What is the third congru-
ence needed to prove thaMNQ = APNO

by ASA?
A £LQ= 1P M
® /MNQ= /PNO o
€& £LM=,0
D sLM=/P N
(E m = NO Q
P

Geometry
Georgia Standardized Test Practice Worklbook

5. Multiple Choice You are given the follow-

ing information abouAGHI andEFD.
. 2G=/LE . zH=/F
. 2l=2+D IV. GH=EF
V. GI=ED

Which combination cannot be used to prove
that AGHI = AEFD?

AV, IV B>
© L,V 1 D
E> none of the above

I, 1, v
V, IV, 1

6. Multiple Choice Given thatzX = /D, and
DE = XW, what is the third congruence need-
ed to prove thabk XWY = ADEC by ASA?

A 2Y=/C B +1Y=/LE
© /W= /C ‘D /W= /LE

CE> none of the above

7. Multiple Choice Given thatz.G= ZE and
/|1 =« D, what is the third congruence need-
ed to prove that\GHI = AEFD by AAS?

A /H=/F @B HI=ED
@©€> HI=FD (D ED=GI
(E> none of the above

8. Multi-Step Problem In the diagram,
AB | CD, CB| DE, andAB = CD.

A B

E

a. Prove thatnABC = ACDE.
b. Prove thaC is the midpoint ofAE.

Copyright © McDougal Littell Inc.
All rights reserved.
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45 Standardized Test Practice | GHsGT: 22

For use with pages 229-235

GA QCC: 14, 15, 16

TesT TAKING STRATEGY Make sure that you are familiar with the directions before
taking a standardized test. This way, you do not need to
worry about the directions during the test.

1. Multiple Choice Which postulate or theo-
rem can be used to prove titia¢ triangles are
congruengivenM is the midpoint oKQ and
KL | PQ?

A> SSS
B SAS
C ASA
(D AAS
(E> AAA L o

2. Multiple Choice Which statement correctly
describes the congruence of the triangles in

Exercise 1?
A> AKML = APQM
(B> AKLM = APQM
© AKML = AQMP
D AKLM = APMQ
(E> AKML = APQM

3. Multiple Choice After proving the triangles
congruent in Exercise 1, what reason could
you give to prov&KL = PQ?

CA> \Vertical Angles Theorem
(B> Reflexive Prop. of Congruence
(C> Corresp. parts ot A  are.
(D> ASA

“E> Definition of midpoint

4. Multiple Choice You A
want to proveBC = AF.

As a first step, which

pair of triangles would ,_-\
you prove congruent? FC—p c
(A> AADF = ACDB

B> AADF = AEDF
(€ ABCD = AFED E
D BorC

E> Any of the above

Copyright © McDougal Littell Inc.
All rights reserved.

Multiple Choice In Exercises 5-16, use
the choices below to complete the proof
that AG = FE.
(A> Alternate Interior Angles Theorem
“B> ASA Congruence Postulate
(€~ Corresp. parts ok A are.
(D> Vertical Angles Theorem
(E- Definition of Congruence

B c

G E

Statements Reasons

a. AB|GC,GB|EC, |a. Given
AG || BE, GF = FC,
/AGB = /FEC
/BFG = LEFC b
/BGF = ZECF c.
ABGF = AECF d.
BG=EC e
/ABG = /FGB f
m/ ABG = m/FGB,| g
m/BGF = mZECF
m/ABG = mZECF | h. Sub. prop. of equality

|

J

@™o oor
Soo N

1

/ABG = LECF 11.
AABG = AFCE .12
AG =FE k. 13.

T oo

14. Multi-Step Problem In the diagram,
/1= /3and/2= /4.

a. Prove that B ¢
AAGC =
AAGE. A 1 G |,

v 193dey)

b. Prove that g
ABCG = E
AFEG. E

c. Prove thatACDG = AEDG.

Geometry
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45

For use with pages 236-242

Standardized Test Practice

GA QcCcC: 10, 16, 17

TesT TAKING STRATEGY Avoid spending too much time on one question. Skip ques-
tions that are too difficult for you, and spend no more than
a few minutes on each question.

1. Multiple Choice What is the value of?

A 3

(B’ 5 X+ 11 3x+1
© 7

D 9 2x+ 8

(B 11

2. Multiple Choice
What is the length

of aleg? 3x + 4 Sx + 2
A 3 B 17 -
© 12 D 13 7x—8
E> 19
3. Multiple Choice What are the values af
andy?
(A x=725y=725 //(\\
B> x=235Yy=235
© x=35y=110 <= Y
(D> x=055y=55
(E> x=110,y = 35

4. Multiple Choice What is the value of?

‘A 30

@® 60

> 90

D 100

"E> Cannot be
determined

5. Multiple Choice Choose the reason the tria
gles are congruent.
\> SSS
SAS
AAS
ASA
Geometry
Georgia Standardized Test Practice Worklbook

Cannot be proven
congruent

%
~
g
2
(Y}

6. Multiple Choice Solve forx andy.

‘\/AA) X = 120, yo
y = 60

B x =60,
y = 60 .

_ X

y =120

D x=120,y =30

(E  x=60y=120

7. Multiple Choice Solve forx andy.

@A x=170y=55

(B- x=55y=110

© x=70y=110 Ve

‘D x=70y=145 A A
\35°

(E x=055y=145

8. Multiple Choice Use the diagram in
Exercise 7 to solve fow andz

A w=145z=70 (B w=110,z=55
¢ w= 110,70 D w=145z=55
E w=70,z=55

9. Quantitative Comparison
Use the diagram
to find the
missing values.
Choose the state-
ment below that
is true about
the given number.

CA> The value in column A is greater.

The value in column B is greater.
The two values are equal.

The relationship cannot be determined
from the given information.

Column B
mZ3

Column A
mz1

Copyright © McDougal Littell Inc.
All rights reserved.
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GA QCC: 14, 42, 43, 46

47 Standardized Test Practice

For use with pages 243-250

GHSGT: 25

TesT TAKING STRATEGY Staying physically relaxed during the SAT is very important.
If you find yourself tensing up, put your pencil down and
take a couple of deep breaths. This will help you stay calm.

1. Multiple Choice An isosceles right triangle 6. Multiple Choice What are the coordinates

has a vertex 40, 0) and anothe(®t8). If of the midpointM?

its legs are 8 units, what point belomightbe RS

the third vertex? ‘A (40.30) 4y nGo,80) | 060, 80)

B> (60,40
A (8,0 ® (—8,0 o (30 80) /
© (0,-8) @ AorB (60’ 30) /
. O) )
E~ All of the above ( ) M
E> (30, 40) /
2. Multiple Choice A rectangle with sides of /

3 units and 6 units is placed on a coordinate /0, 0)] (30, 0)

plane. If one vertex is 40, 0), which set of 10 | X
points could be the other vertex points?
‘A> (0,6),(6,3),(3,6) Quantitative Comparison In Exercises 7
B (3,0),(0,6),(3,6) and 8, use the diagram below. Choose

the statement below that is true about

© (=3,0,(-36),(0 -6) the given value.
@ (30),(0,—6),(—3,—6) (A> The value in column A is greater.
(E> All of the above (B> The value in column B is greater.

€ The two values are equal.
(D> The relationship cannot be determined
from the given information.

3. Multiple Choice A right triangle has legs of
8 units and 10 units. Use a coordinate plane
to solve for the hypotenuse.

A /18 B 45 ©c 24 y
D 80 E> 32

A0, 6) | |B(4,6)

4. Multiple Choice A rectangle with lengtihn
and widthk is placed in a coordinate plane
with one vertex at0, 0). What is a possible
point for the vertex diagonal {@, 0)?

A (0h ® (h,0) © (0-K oo, 0) D(6, 0)
@ (h,-k B> (~h0 1]

5. Multiple Choice Use the diagram in Column A Column B
Exercise 6 to find the length 8P. M is the 7 AD BC + CD 0
e : >
midpoint of PQ. 2
A 25 ‘B> 50 T 40 8 o8 oc 8
(D> 30 (E> 125 &
Copyright © McDougal Littell Inc. Geometry
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51 Standardized Test Practice

For use with pages 264-271

GA QCC: 1, 15, 17, 18,
46

GHSGT: 4, 29

TesT TAKING STRATEGY Make sure that you are familiar with the directions before
taking a standardized test. This way, you do not need to
worry about the directions during the test.

1. Multiple Choice In the diagram\WY is the
perpendicular bisector &B. What is the

value ofx?
A 31
v B 2
X — 4 5x+6 (G 16
D> 10
A wl3x+10 5 g 5

2. Multiple Choice Which diagram below
allows you to conclude th&t is on the
perpendicular bisector &B?

. C Il ?A
—+Lip
c
A P B
[ o1
M. c
-
A P B
(A> lonly B Il only
C> llonly @ Ilandll

"E> none of these

Geometry
Georgia Standardized Test Practice Worklbook

<>

3. Multiple Choice In the diagramKM L OQ,
andOP = PQ. FindPQ.

o A 8
, 1. \E) 10
© 12
K 1P b 13
N ° E 15
13 ) \

4. Multiple Choice In the diagram, in

Exercise 3KM bisectg OKQ.  FirlaM.
A 8 ‘B> 10 © 12

D 13 (B> 15

Quantitative Comparison In Exercises

5 and 6, choose the statement below that
is true about the given values.

N

> The value in column A is greater.
The value in column B is greater.
The two values are equal.

The relationship cannot be determined
from the given information.

SR

Given: MN is the perpendicular bisector
of AB.

2y + 8
3z+7

4y — 6
5z-1

A 1

3 M 1
2x+2 2x+12

Column A| Column B
5. AB NB
6. AM MO

Copyright © McDougal Littell Inc.
All rights reserved.
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GA QcCcC: 17, 18

52 Standardized Test Practice | GHsGT: 20

For use with pages 272-278

G 193deyH

TesT TAKING STRATEGY Work as quickly as you can through the easier sections, but
avoid making careless errors on easy questions.

1. Multiple Choice Complete the statement so 5. Multiple Choice In the diagramthe angle

that it is true. “The point of concurrency of bisectors ofAACE meet at poinG. Find GD.
the of a triangle is called the _ A 1
of the triangle.” -
) . . . @B 2
CA> perpendicular bisectors; incenter o 3
(B> perpendicular bisectors; circumcenter -
. . D 4
C angle bisectors; circumcenter ,
. . : (E> 5
‘D> angle bisectors; inscribecenter
(E> AandC
6. Multiple Choice In the diagram below, the
2. Multiple Choice In the diagramP is the angle bisectors oAKLM meet at polvt
circumcenter ofAABC. Find the value ok. Find NP. L
A 1 B A 10
B> 3 ‘B 25 o NP
c 9 D E @ 20
E \ 1Ll Ll B> Q
\'E' 21 A T F TTT c \——E/ 15 I 40 I

Given: PB = 15;PC = 3x + 6
7. Multi-Step Problem A city is planning a

new recreational park. They want to locate
the new park so that it is equidistant from
three large apartment complexes.

a. What term best describes the point the city
is looking for?

3. Multiple Choice The point of concurrency
of the three perpendicular bisectors of an
obtuse triangle is ?  the triangle.

(A> alwaysinside B  always outside

.C always on D> sometimes inside
_ _ b. The three apartment complexes would be
B/ sometimes outside located a(4,5), (2,1), an@6,1) ona
_ . ) coordinate plane. Plot the points and draw
4. Multiple Choice The point of concurrency the perpendicular bisectors of the triangle
of the three angle bisectors of a right triangle formed.
is _? the triangle. _ _
T _ 'g , . c. What are the coordinates of the best posi-
(A> alwaysinside (B> always outside tion for the new park?
> always on (D’ sometimes inside d. If each unit on the coordinate plane is

1 mile, how far is each apartment complex

(E> sometimes on
from the park?

Copyright © McDougal Littell Inc. Geometry
All rights reserved. Georgia Standardized Test Practice Workbook
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GA QCC: 1, 15, 17, 18,

43, 46
53 Standardized Test Practice | GHsGrT: 4

For use with pages 279-285

TeST TAKING STRATEGY It is important to remember that your SAT score will not
solely determine your acceptance into a college or university.
Do not put added pressure on yourself to do well. If you are
not satisfied with your SAT score, remember that you can
take it again.

1. Multiple Choice In the diagram(C is the 6. Multiple Choice Complete the statement
centroid of AXYZ, UY 1 XZ, CW = 3, and to make a true statement. “The three altitudes
CZ = 8. FindCX of an obtuse triangle ? intersec? the

A 3 X triangle.”

B 6 v &> always; inside

© 9 U “B> sometimes; inside

. (C> always; outside

D 8 v Y5 _

E 12 " ‘D> sometimes; outside
z (E~ never; outside

2. Multiple Choice Use the diagram in Quantitative Comparison In Exercises 7-9,
Exercise 1. Find/Z use the diagram below. Point C is the
A B B 4 T 8 centroid of ADEF, CH = 6, GE = 10, and

o ° /;’ GF = 15. Choose the statement below
D 12 B> 16 that is true about the given value.
E

3. Multiple Choice In the diagram in
Exercise 1, itXU = UZ, thetJY is? .

CA> an altitude G H
(B> a perpendicular bisector A
(C> a median

b i F

(D> an angle bisectorcE> all of these

_ _ _ CA> The value in column A is greater.
4. Multiple Choice What are the coordinates B Th lue i | Bi ¢
of the centroid of a triangle whose vertices are B € value in column B 1S greater.

A(3, 1), B(7, 3), andC(5, 7)? L The two values are equal.
A (5, %) B (5, %3) £ (52 (D> The relationship cannot be determined
D (6, %) E (6, %) from the given information.
Multiole Choi What is th AABC? Column A| Column B
5. Multiple Choice at is the area : - DE DH
@ 50 B 8. GC CF
‘B> 48 9. CE CD
> 51 20
i 16
D 42 17
E®& 320
A 3 c
Geometry Copyright © McDougal Littell Inc.

Georgia Standardized Test Practice Workbook All'rights reserved.
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hA

For use with pages 287-293

TesT TAKING STRATEGY Do not panic if you run out of time before answering all
of the questions. You can still receive a high test score
without answering every question.

1. Multiple Choice In the diagramPJV aneVU

are midsegments @gfXYZ. Fint/X

A 5 X w %

B 10 [

‘/CA\‘ 15 5

D v v

® . )
z

2. Multiple Choice Use the diagram in Exercis
1 to find WU.

A 5 B> 10 C> 15
D 4 E 8

3. Multiple Choice Find the coordinates of the
endpoints of the midsegment parallel/AB.

A (4,2),(3,4)

Y| B(4,7)
® (3,4),(55)
/ © 3,4),4,7)
C(6. 3) D (4,2),4,7
/ E (4,2),(5,5)
L1 | A(“Z' 1‘) :

4. Multiple Choice Given the midpoints of a tri
angle ard7, 4), (5,6) an¢B, 7), which coord
nates below are the vertices?

> (6,9),(5,4), (11, 6)
(5,4),(10,5), (6,9)
(4,3),(10,5),(6,9)
(4,3),(7,9), (11, 5)
(4,3),(6,9), (11, 6)

(L)

Standardized Test Practice
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GA QCC: 17,18, 43

GHSGT: 35

G 193deyH

5. Multiple Choice Use the diagram to find the

perimeter ofAKLM. L
A 60 i
B 120 b
C> 150 i
D 180 i
‘E> 240 K M

B
15—

6. Multiple Choice Use the diagram below to
find FG.

L
F
5x+ 7
K G
/\ E
12x + 8
M
A 3 B «c 22
‘D 44 E 7

Quantitative Comparison In Exercises 7
and 8, use the diagram below. BD, DF,
and BF are midsegments of AACE.

BC = 10, AE = 12. Choose the statement
below that is true about the given value.

‘A> The value in column c
, A Is greater. 10
(B~ The value in column
: B

B is greater. b
@© The two values are

equal. A
(D> The relationship 12—

cannot be determined
from the given information.

Column A Column B
7. BD BF
8 The perimeterr The perimeter
' of ACDB of ADEF
Geometry

Georgia Standardized Test Practice Workbook
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GA QCC: 1, 2, 15, 17,

18, 46
55 Standardized Test Practice | GHsGrT: 4

For use with pages 295-301

TesT TAKING STRATEGY Read each test question carefully. Always look for shortcuts
that will allow you to work through a problem more quickly.

1. Multiple Choice Use the diagram below to 5. Multiple Choice Which statement below
determine which statement is true. is false?
I
n—2
60°
WO
n
250 85° A mLX < mLy
J ‘B> m/Zx+ msy > m/Zw
A m/ZH <mzsJ < mzl T miy < miw
B HIl <HJ<J D MLX < mLW
© J <HI<HI B miw s m/z
D~ HJ > HI E mzl > mzH
6. Multiple Choice Use the diagram to solve
2. Multiple Choice Which is the shortest side? the inequalityAB + BC > AC.
@A AC B A x>0 B
@B AB B x< -4 4x+5
45°
© BC © x<0 ¥*2 c
D ‘D x> 10
AorC o 6x + 3
‘E> cannot be 65° c E x> —4 A
determined A
Quantitative Comparison In Exercises
3. Multiple Choice List the sides in order from 7 and 8, use the diagram below. Choose
longest to shortest. the statement that is true about the
‘A" CE.EEEG E given value.
o B
B EG, GF, EF 60°
@€ EF,EG,GF 40°
D EF,GF,EG
BN EC EBE CC '350
E> EG, EF,GF 20° . A D ' o
G i . .
(A> The value in column A is greater.
4. Multiple Choice A triangle has two sides that (B> The value in column B is greater.
Ea:/e Iengtlr:js of 8 cm and r1]4 I(:m. VthifCthenr?tz ‘C> The two values are equal.
Si%giv couldnotrepresent the length of the thir (D> The relationship cannot be determined
' from the given information.
(Ao 7cm B> 13cm (C> 18 cm Column A| Column B
(D> 22cm E> 15cm 7. AB AD
8. BC DC
Geometry Copyright © McDougal Littell Inc.

Georgia Standardized Test Practice Workbook All'rights reserved.
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h.6

For use with pages 302-308

TesT TAKING STRATEGY When checking your work, try to use a method other than
the one you originally used to get your answer. If you use
the same method, you may make the same mistake twice.

1. Multiple Choice Use the diagram to deter-
mine which of the following is a possible
length forAC.

A D
15
. 50° . 45°
c B F 3
A 10 B 12 © 13
@D 15 B> 17

2. Multiple Choice In the diagram, which of
the following isnota possible measure for
£ DCB?

C
35°
A 15 D 13 B
A 27 B 30° C 35
\D S 200 C\ 340

3. Multiple Choice Use the Hinge Theorem
and the diagram below to choose the state-
ment which must be true.

12

//1\\
) 2

10

A msz1l>ms3
B msLl=ms2
€ ms£1>ms2
D ms£l<ms2
E. mz4 > ms2

Copyright © McDougal Littell Inc.
All rights reserved.
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GA QcCcC: 17, 18

GHSGT: 29

G 193deyH

4. Multiple Choice Use the diagram below
and the given information to choose the
conclusion that is true.

Given: AB = ED
AC > CD A B

A msZA > mszD
B msLD > mZA
© msLA > mLZE
D> ms/B>ms/D
E mzA < mLE E

5. Multiple Choice Use the diagram and the
Hinge Theorem to choose the inequality that
correctly describes the restriction on the value
of x.

10
60°
50°
10 3x+ 2
2x+ 6
A x> 4 B x<4 © x<3
D X< 2 E x>2

6. Multi-Step Problem
a. Sketch an acute triangheBC with
mZA = 45° andmzC = 55°,
b. Draw an exterior angle adjacentB&
with vertex atC, and label it BCD.
c¢. Determinem/ BCD.
d. What is the shortest side 6fABC?

e. Use your diagram as a reference to write
the first statement of an indirect proof of
“the measure of an exterior angle of a tri-
angle is equal to the sum of the two non-
adjacent interior angles.”

Geometry
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b. 1

For use with pages 322-328

Standardized Test Practice

GA QcCcC: 1, 2, 10, 18

GHSGT: 4, 29, 30

TesT TAKING STRATEGY Do not panic if you run out of time before answering all of
the questions. You can still receive a high test score with-
out answering every question.

1. Multiple Choice Which figure below is a

polygon?

l. Il. [l
©
: * O /A
]
& SR B
§ CA> 1only B> 1l only

@ Ml only (D> landlll

C(E> none of these

2. Multiple Choice A polygon with 7 sides is

calleda ? .
A~ nonagon (B> dodecagon
(C heptagon "D hexagon

E~ decagon

3. Multiple Choice An octagon has how many
sides?

A 5 B 6 © 7
D 8 E®& 9

4. Multiple Choice The figure below is a
?

A

E>

convex hexagon
convex heptagon
concave heptagon
concave hexagon

concave pentagon

5. Multiple Choice The polygon below is best
describedas ? .

LN

N
m o

P
{
\.

an equilateral pentagon
an equiangular pentago
a regular pentagon

an equilateral hexagon
an equiangular hexagon

Geometry
Georgia Standardized Test Practice Worklbook

6. Multiple Choice FindmZA.
A 65°

(B> 135°
¢ 100°
D 90°
(E> 105°

A 165° )

7. Multiple Choice Find the value ok.
R 40 (5x — 5)° A
B 10

C> 45 b
‘D 30
E> 70

8. Quantitative Comparison Choose the state-
ment below that is true about the given value.
Given: ABCF = EDCF

CA> The value in column A is greater.
(B> The value in column B is greater.
(C> The two values are equal.

‘D> The relationship cannot be determined
from the given information.

A B
80°
(ly + 3o)° 35°
2 C
100°
2Xx°
E D
Column A | Column B
X y

Copyright © McDougal Littell Inc.
All rights reserved.
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GA QCC: 1, 15, 17, 18,
19, 46

62 Standardized Test Practice | GHsGT: 4,29, 30

For use with pages 330-337

TesT TAKING STRATEGY If you find yourself spending too much time on one test
question and getting frustrated, move on to the next
question. You can revisit a difficult problem later with a
fresh perspective.

1. Multiple Choice Opposite angles of a paral{ 6. Multiple Choice
lelogram must be  ? . What are the ﬂ’
-~ lues ofx andy? T
(A> complementary (B> supplementary va : ’
@© congruent @D AandC
(E> BandC

3y + 6

9 J193deyH

A x=12,y=6 ‘B x=6y=12
2. Multiple Choice What are the values of the © x=8y=15 D

. . x=4y=28
variables in parallelograldaBCD?

E x=15y=8

A B
3x° 2y; 7. Multiple Choice Three coordinate points of
a parallelogram ar@, 1), (4, 4), and, 4).
; 12OC° Find the fourth vertex.
A (51 ® (2,7) © (5,9

(A x=40,y=60 B x=30y=40

D@ (57) B> (1,7
@© x=60,y=20 (D x=20,y=060
‘E> x=40,y =30 8. Quantitative Comparison Use the informa-
tion given. Choose the statement below that is
3. Multiple Choice What is the length dfP? true about the given value.
A 4 B 5 L 20 M (A The value in column A is greater.
c 8 D 10 (B> The value in column B is greater.
E 20 «C~ The two values are equal.
D> The relationship cannot be determined
4. Multiple Choice In the parallelogram in from the given information.
Exercise 3, what is the length BN  if the Given: ABCD, DEFG, andFHIJ are
perimeter is 70 units? parallelograms.
(A~ 20 units @B 15 units
€ 10 units @ 30 units
(E> 50 units

5. Multiple Choice Which statement is not
always true about parallelogramixy 2

A VX=VZ w X
A V_X E » Column A | Column B
B XY=WZ mzC m/E
€ LWXY = LYZW
D WY=XZ z » %
E LWXZ= /XZY
Copyright © McDougal Littell Inc. Geometry
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LESSON

b.3

For use with pages 338-346

Standardized Test Practice

GA QCC: 6, 17, 18, 19,
46

GHSGT: 4, 29, 30

TesT TAKING STRATEGY Read each test question carefully. Always look for
shortcuts that will allow you to work through a problem

more quickly.

1. Multiple Choice Which additional piece of
information do you need to provBCDis a
parallelogram?

‘A AB=DC A B
(B> AD=BC

(> AB| DC

(D> AorB D o

E BorC

o

©
~
g
2
(Y}

2. Multiple Choice WXYZis a quadrilateral.
Which information woulchot allow you to
conclude thaWXYZis a parallelogram?

A WX=ZY,WZ = XY

B LW= LY, /X=/2Z

C WX| ZY,WZ = XY

D WZ || XY, WX || ZY

E> WZ=XY,WZ | XY

3. Multiple Choice To prove thaABCDis a

parallelogram, you would have to first prove
AACD = ACAB using the  ?

A B

D c
(A> SAS Congruence Postulate
SSS Congruence Postulate
AAS Congruence Postulate
ASA Congruence Postulate

mobow®

none of these

Geometry
Georgia Standardized Test Practice Worklbook

4. Multiple Choice What value of will make
the quadrilateral a parallelogram?
A 5 @® 10
«C 50 D> 40

(E> 60

(x — 20)°

5. Multiple Choice Given thatAAED = ACEB,
ABCDwould be a parallelogram because

?
A D
B o
CA> both pairs of opposite sides are parallel

B~ the diagonals bisect each other
(C> both pairs of opposite sides are
congruent

both pairs of opposite angles are
congruent

(E- one pair of opposite sides is congruent
and parallel

6. Multi-Step Problem Consider the four points
A(5, 4), B(6, 2), C(3, 1), andD(8, 5).

a. Show thatABCDis a parallelogram by
showing that opposite sides are parallel.

b. Show thatABCDis a parallelogram by
showing that opposite sides are congruent.

¢. Show thatABCDis a parallelogram by
showing that the diagonals bisect each other.
Label the intersection of diagonad8  and
CD pointE.

Copyright © McDougal Littell Inc.
All rights reserved.



LESSON

GA QCC: 17,18, 19

64 Standardized Test Practice | GHsGT: 30

For use with pages 347-355

TesT TAKING STRATEGY When checking your work, try to use a method other than
the one you originally used to get your answer. If you use
the same method, you may make the same mistake twice.

1. Multiple Choice What special type of 6. Multiple Choice In rectangleABCD,
quadrilateral has the verticé$— 2, 1), AB = 3x + 6andCD = 2x — 2. Find the
B(2, —3), C(2,1), andD(—2, —3)? value ofx.

&> rhombus B> square A 4 B 3 © 5
> rectangle (D> parallelogram D 2 ® 3

“E> none of these . . :
7. Multiple Choice The perimeter of a square

MNOPis 72 inches, antllO = 2x + 6. Wha
is the value ok?

9 J193deyH

2. Multiple Choice WXYZis a rhombus. What
is the value ok?

B 3 A 15 ® 12 > 6
X = 3x + 12)° ,
By 12 D 9 (E> 18
5x + 6)° . . . .
(ox+6) 8. Multiple Choice KLMN is a rectangle. Find
B , the values ok andy.
A 9 B 3 © 4 N Iy
3y +21 5y + 11
3. Multiple Choice In the diagram below,  L2x— 10 .
PQRSis a rhombus. What are the valuesof A X=50v=16 B X=40.y=5
andy? o Y - Y
A ng’y=4 , € x=40,y=16 D x=50,y=5
B> x=50,y=4
B x=5y=2 X+5
© x=10y=4 s YNo Quantitative Comparison <
D x=5y=6 g In the dlagramACEGls a / |\
. B B 2Xx rhombus BDFH is a rectangle, anx?u;_“ an
B x=10y=6 equilateral VA NS
_ _ _ R triangle. For Exercises 9 and 10, chpose pg/state-
4. Multiple Choice Ihe diagonals of a ment below that is true about the gikxer-w#tue.
fectar\gle must__* _ A The value in column A
(A~ bisect each other(B> be perpendicular > is greater. G
(C> becongruent D> AandB The value in column B is greater.
E AandC The two values are equal.

B
C
‘D" The relationship cannot be determined

5. Multiple Choice If a quadrilateral has four . . )
P N > from the given information.

equal sides, then it must be a ?

(A rectangle (B> square
< thomb b AandB 9. | Column A| Column B
W& rnompbus D> an
) i 10. mz BAI m£ICD
Copyright © McDougal Littell Inc. Geometry
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LESSON

b.5

For use with pages 356-363

Standardized Test Practice

GA QCC: 17,18, 19

GHSGT: 30

TesT TAKING STRATEGY Staying physically relaxed during the SAT is very important.
If you find yourself tensing up, put your pencil down and
take a couple of deep breaths. This will help you stay calm.

1. Multiple Choice In trapezoidkLMN, KL
andNM are  ?

A legs K L

(B> bases

(C> consecutive angles

(D> diagonals N b N
“E> none of these

2. Multiple Choice In the isosceles trapezoid
ABCD, find mzB.

A 110° A D
‘B> 55° 1o’
o 70

(D> 60° B ’ o
(E> 1400

3. Multiple Choice Which statements below
must be true iABCDis an isosceles trape-
zoid with a legAD?

I. AB=DC . AB || DC

Il. AD=BC IV. AD ||BC
A landlll B land IV
«C lland D lland IV
E> I, 1l,and 1

4. Multiple Choice ABCDis a trapezoid. Find
the length of midsegme#dF.

@A 5

A
B 11
C 16

11
© 8
B>
E 22 /D/\

Geometry
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5. Multiple Choice Find the length oKL in
the trapezoid below.

ax+1 L
©> 13 O 17
B 27 ’;[ — \'5\
27

N M

6. Multiple Choice What special type of
quadrilateral has the verticé¢6, 3), B(2, 5),
C(3, 2), andD(5, 6)?

A square B> rectangle
@© rhombus (D trapezoid
(E> kite

7. Multiple Choice The midsegment of a
trapezoid is 9 cm long. What choice below is
nota possible choice for the lengths of the
bases?

A 2,16 (B 5,4 € 8,10
D 6,12 (B> 5,13

8. Quantitative Comparison In the diagram,
DEFGis a kite. Choose the statement below
that is true about the given value.

CA> The value in column A is greater.
‘B> The value in column B is greater.
(€ The values are equal.

(D> The relationship cannot be determined
with the given information.

Column A | Column B D
X y
7 2y
G X >E
X 5\/5
)2

Copyright © McDougal Littell Inc.
All rights reserved.



LESSON

b.6

For use with pages 364-370

Standardized Test Practice

GA QCC: 17,18, 19

GHSGT: 29

TesT TAKING STRATEGY Avoid spending too much time on one question. Skip
questions that are too difficult for you, and spend no
more than a few minutes on each question.

1. Multiple Choice The quadrilateral below is
most specifically a  ?

rhombus

a N
o >
S N

rectangle
kite
parallelogram

trapezoid

2. Multiple Choice A quadrilateral with at
least two sides parallel and two congruent
sides might be ?

a rhombus

>

(B> an isosceles trapezoid
C akite

AorB

none of these

m o o

3. Multiple Choice What kind of quadrilateral
would meet the conditions of the diagram?
ABCDis not drawn to scale.

kite A B
rhombus

trapezoid

square

moowpy

parallelogram

4. Multiple Choice What value o would
make quadrilateraABCD a trapezoid?

@€ 25 D 35 3x°
E> 10
(5x — 20)°
D c

Copyright © McDougal Littell Inc.
All rights reserved.

5. Multiple Choice Which statements below
are always true about a rectangle?

I. Both pairs of opposite angles are
congruent.

Il. The diagonals are perpendicular.

[ll. Both pairs of opposite sides are

congruent.
A | B @

D> landlll  <E> none of these

6. Multiple Choice Which statements below
are always true about a trapezoid?

I. Exactly one pair of opposite sides are
congruent.

II. Exactly one pair of opposite sides are
parallel.

[ll. The diagonals are congruent.
A | Bl @ m
D> land Il CE> none of these

7. Multi-Step Problem In the diagramDEFG
is a rectangle and ABC s regular.

B

A G F o

a. If GE = 10y — 2andDF = 3y + 12, find
the value ofy.

b. If the midsegment of trapezoRECGis 5
inchesDE = 3x + 2, andsC = 8x — 3,
find the value ok.

c¢. Prove thatAADG = ACEF.

Geometry
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LESSON

b./

TesT TAKING STRATEGY

For use with pages 372-380

Standardized Test Practice

GA QCC: 1, 2, 18, 19,
32, 37

GHSGT: 4, 20, 26, 27, 35

One of the best ways to prepare for the SAT is to keep up

with your regular studies and do your homework.

1. Multiple Choice Find the area of a square
with a perimeter of 30 cm.

(A 225 cn? (B> 15cn?
@€ 30cn? ‘D 56.25 cm
% (E 60cn?
]
E‘ 2. Multiple Choice Find the area ofABC.
S (A> 17.5 square units ¢
B~ 7.5 square units
(C» 30 square units g 7
(D~ 15 square units
(E~ 9 square units A 3 B

3. Multiple Choice Find the base length of a
triangle with an area of 52 én and a height

of 13 cm.
(A> 8cm B> 16cm L€ 4cm
D> 2cm ‘E> 26 cm

4. Multiple Choice Find the area of
parallelogranEFGH.

E
F
15 8
H 14 G
(A> 75 square units ‘B> 112 square units
(€ 120 square units(D> 56 square units
(E_~ 60 square units

5. Multiple Choice The area of the rectangle is
60 square units. Find the value of x.
A 5 40
59 D 7
8

B
B

2x—1

|

(E>

D

Geometry
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6. Multiple Choice The area of the kite is
160 square inches. Find the lengtBaf.

CA> 10in. A
B> 20in.
< 8in. 10+
D> 16in. P B
E> 32in. 1
C

7. Multiple Choice Find the area of a trape-
zoid with vertices af\(0, 0), B(2, 4), C(6, 4),
andD(9, 0).

(A> 26 square units (B> 13 square units

52 square units (D> 36 square units

«c
(E> 18 square units

8. Multi-Step Problem A doll house is
sketched below. There is no back to the house
or roof, but there are sides to both.

a. Find the area of the walls (including the
windows and the doors).

b. Find the area of the window openings.
The window above the door consists of
5 congruent isosceles triangles.

¢. Find the area of the roof.

5 ft Z
T5 i %
15 ft T
ke
ST o b
In. 5
6%"3' T 3 in6£]' i
n.
L i )2
f 6 ft |

Copyright © McDougal Littell Inc.
All rights reserved.



CHAPTER

6 Cumulative Standardized Test Practice

For use after Chapters 1-6

1. Multiple Choice XY and WY intersect at
2

(A pointX (B> pointY
© pointW )
(E> none of these

=

2. Multiple Choice PointB is betweerA and
C. Use the Segment Addition Postulate to
solve forx whenAB = 5x + 2,

AC = 12x + 7, andBC = 26.

A 1 B 2 ¢ 3
D> 4 (E. 5

3. Multiple Choice Find the measure of
/ ABD.

Ao 30°
B 60°
© 9
D 120°
E  150°

4. Multiple Choice AB bisects/ CAD. Find
the value ok.

w2
B 4
L 6
D 8
(E~ 10

5. Multiple Choice Find the value of.
(A> 30

B> 35 85°
.C 85
D 22 (3y — 5)°
(E~ 55

Copyright © McDougal Littell Inc.
All rights reserved.

6. Multiple Choice What is the converse of “If
there is ice on the lake, then it is cold?”

CA> If there is not ice on the lake, then it is
not cold.

(B> Ifitis cold, then there is ice on the lake
“C> Ifitis not cold, then there is not ice on

the lake. o

(D> There is ice on the lake if and only if it 5
; s

is cold. -

)

E~ none of these o

7. Multiple Choice Which of the following is
true about the conditional statement. “If
mz1 = 40° and them~2 = 50°, then the
angles are complementary.”

I. The statement is true.

[I. The biconditional is true.

[ll. The converse is true.

A Bl @
@ landll  E- landll

8. Multiple Choice In HIJK, HK = 1J. What is
the value ok?

A1 H /
® 2
c 25
D 3 K J
(E> 3.5

bx + 3 7x — 2

9. Multi-Step Problem Let p be “You stay up
late,” g be “You are tired” and be “You are
cranky.”

a. Write p - g in words.
b. Write g - r in words.

c¢. Write the contrapositive gb - q in words
and symbols.

d. Writing Use the Law of Syllogism and
the statements from parts (a) and (b) to
write a new conditional statement.

Geometry
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CHAPTER

B Cumulative Standardized Test Practice
CONTINUED
For use after Chapters 1-6
10. Multiple Choice Solvex + 12 = 24, then 14. Multiple Choice Find the value ok when
choose the property that applies to the all b.
required step. ‘A> 15 ;
CA> Substitution property of equality. B 16
o L . (4x — 3)°
B~ Division property of equality. 17
= 65°
(C> Subtraction property of equality. D 18 a
) (D> Distributive property of equality. B 19 b
§ (E> Reflexive property of equality.
& 15. Multiple Choice What value ofa would
ﬁ . Multiple Choice Two angles are supplement make lines< andy parallel?
tary. If m£1 is67°, what ismz2? A 29 ;
/KA) 670 ® 230 @ 460 ‘BD 36 \560 x
(D) 134 E 13 © 7 N\ ,
, 145°
12. Multiple Choice Solve forx andy. b 14 \

A x=2125y =24
= = 412 o .

® x=25y=413 16. Quantitative Comparison Choose the

tatement below that is true.

A~ The value in column A is greater.
(B> The value in column B is greater.
(C The two values are equal.

N
o
S
x
I
N
N
<
I
w
=
o
\]
o
X
|
E=
o,
n

D x=25y=30
E x=24,y=283

13. Multiple Choice In the diagram¢4 and.5 (D> The relationship cannot be determined
are what type of angles? from the given information.
Xz Column A Column B
3\4 Slope of Slope of the
Rg; the line line perpz)endicular
7& Bx + 2y = 12 toy=3x+6

17. Multiple Choice Find the measure of 1.

(A> corresponding angles
‘B> alternate interior angles @ 3 w
(C alternate exterior angles B 35°
(D> consecutive interior angles & 9 (3
(E> consecutive exterior angles (D 58 ’
(B> B5°
Geometry Copyright © McDougal Littell Inc.
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CHAPTER

CONTINUED

For use after Chapters 1-6

18. Multiple Choice Given/ZX= £A and
£Z = /C, find the value ok.

/ <
v (bx 15)°

A 25 B 27 «© 29
@ 30 E> 35

19. Multiple Choice Which postulate or
theorem can be used to prove that
AABC = ADCB?

@A> SSS B D
(B> SAS
‘C ASA

‘D AAS
(E> none of these

20. Multiple Choice Which postulate or
theorem can be used to prove that

AMNO = AKNL if MO| LK?

A~ SSS M L
B> SAS

© HL N

D AAS o 4
“E> none of these

21. Multiple Choice What are the values af
andy?

X=31,y=5  3y+7 X\ 2y + 12
x =106,y =5 %7

A
<)
© x=54y=4
()

x =106,y = 19
E x=37,y=19

Copyright © McDougal Littell Inc.
All rights reserved.

B Cumulative Standardized Test Practice

22. Multiple Choice A right triangle has legs of
24 units and 18 units. The length of the
hypotenuse is ? .

(A> 15units B> 30 units
(€. 45units D> 15.9 units
CE> 32 units

23. Multiple Choice In the diagramCD is the §
perpendicular bisector &B. What is the 3
value ofx? ]
A 243 =
® 3
€ 25 3(x+8
D 2
E 7 D15 B

24. Multiple Choice In the diagramAD bisects
£/ CAE. Which statements below are true?

. BG=GF c

. BC=FE AB/O\
I1l. CD = DE ) G ;
'\A/‘ |

B |l r

o 7

D> landlll

(E- none of these

25. Multiple Choice In the diagram( is the cir-
cumcenter oAXYZ. Find the value (.

A
B 2
@ 3 3x+ 10
D 4
E 5 2x + 15
Geometry
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CHAPTER

CONTINUED

For use after Chapters 1-6

26. Multiple Choice In the diagramBD and

BF are midsegments dfACE.  FirBD and
CE
C
B
D
A

BD =75,CE = 18
BD =75 CE=6
BD =75 CE = 12
BD =15 CE=6
BD =8, CE =12

27. Multiple Choice Use the Hinge Theorem

and the diagrams below to choose the state-

ment which must be true.

A msl>ms2 B msl < ms3
©C mLl>ms3 D mL2 < mz4
E> mz4 > ms2

28. Multiple Choice Find the value ok.
15 (5x + 28)°
16
18
19
21

(3x + 10)°

me 0w >

Geometry
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B Cumulative Standardized Test Practice

29. Multiple Choice What are the values af
andy?

A x=12,y=8 20y + 1)
® x=10y=8 "%
© x=12,y=4 %
D x=8y=4 3y—6

E x=10,y=7

30. Multiple Choice What value ofx will make
the quadrilateral a parallelogram?
B 10
© 15
- 7 , (6x)]
| L4

D 20
(3x + 20)°

E 25

31. Multiple Choice The perimeter of a square
is 68 m. If one side is representeddxy+ 2,
what is the value of?

@& 3 B 5 © 4
D 6 E 10

Quantitative Comparison In Exercises 32
and 33, choose the statement below that
is true about the given statement.

(A~ The value in column A is greater.

(B> The value in column B is greater.
(C> The two values are equal.
(D> The relationship cannot be determined
from the given information.
Column A Column B
A 10 B E_10 F
i 8 9 9/(9.2 8
D C [ 1 >
H 12 G
32. The area The area
of ABCD of EFGH
33. The perimeter The perimeter
of ABCD of EFGH

Copyright © McDougal Littell Inc.
All rights reserved.



LESSON

1.1

For use with pages 396402

Standardized Test Practice

GA QCC: 38, 40, 41

GHSGT: 22

TesT TAKING STRATEGY Sketch graphs or figures in your test booklet to help you
solve the problems. Even though you must keep your
answer sheet neat, you can make any kind of mark you
want in your test booklet.

1. Multiple Choice Which of the statements
below are true?

I.  Rigid transformations are isometries.

Il.  Three types of transformations are refleg
tions, rotations, and transcriptions.

. Isometries preserve distances between

points.
A @ landll
> llandll @ landlll
CE> None of these

2. Multiple Choice Which of the following is
notan isometry?

.Y

pke

i D

(E> None of these

3. Multiple Choice Name the preimage ®fN.

‘A> AB
(B> BC
@€ CD
(D> DF
E FA

Copyright © McDougal Littell Inc.
All rights reserved.

4. Multiple Choice Name the type of transfor-
mation and the coordinates corresponding to

point A”.

y
A B
)
R
+ X

(A> reflection in linex = 1, (3, 4)

‘B> reflection in linex = 0, (3, 4)

(C> rotation about1, 0), (6, 4) Q

(D> reflection in linex = 1, (6, 4) ﬁ

“E> translation in linex = 1, (6, 4) g
N

Quantitative Comparison In Exercises

5 and 6, use the isometry of the kite to
find the value of the variables. Choose the
statement below that is true about the
values.

(A~ The value in column A is greater.
B> The value in column B is greater.
(C> The two values are equal.
D~ The relationship cannot be determined
from the given information.
N (3x + 35)°
10

o

B
1,/

2
A

2
20 sW

cl1e

95°
D

Column A| Column B
5. X y
6. w z

Geometry
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LESSON

1.2

For use with pages 404410

Standardized Test Practice

GA QCC: 38, 40, 41, 46

GHSGT: 22

Test TAKING STRATEGY Work as quickly as you can through the easier sections, but
avoid making careless errors on easy questions.

1. Multiple Choice Which choice below is a
reflection of the figure in lin&@?

"E> None of these

2. Multiple Choice If A3, —2)is reflected in

the linex = 3, then the coordinates Af are
? .

0, -2
(=3,2)

B (3,-2 <«
B> (0,1)

3.1

° >

N
»
H
2
Q

3. Multiple Choice If B(—2, —1)is reflected
in the liney = 3, then the coordinates Bf

are_?

A (4,5) B (—-2,5
€ (-2,-1) D (8,5
E® (=27

4. Multiple Choice Use the diagram below to
complete the statement:GHI - ? .

£ NOP
£LKPO
/ LKP F I | P M
LKLM
£ ONM

o8>

5. Multiple Choice How many lines of
symmetry does the polygon have?

A> 0 B 1
© 2 D 3
E> 4

Geometry
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6. Multiple Choice Given thatA(2, —4) and
B(6, —2), find pointC on thex-axis so that
AC + BC is a minimum.

A (0,4) @ (0,5) «c
D (4,0) (B> (5,0)

(3,0

7. Multiple Choice Given that the diagram
shows a reflection in linm, find the values
of x andy.

A x=10y=3; 12 2x

B x=10,y=14 A
© x=3y=3 m
© x=3y=4 T

E x=6y=7% 5

8. Multi-Step Problem

y| | | BG5,6)
AL, 4)
/
/
Tt C(3, 1)
1 Rk

a. Draw and labeNA’'B'C’, which is the
reflection of A ABC in thex-axis.

b. Name the image ofB.

c¢. Draw and labeNA”B"C”, which is the
reflection of AABC in they-axis.

d. Draw the reflection ofA ABC
X = 2.

e. Find the midpoint oAA”.

in the line

Copyright © McDougal Littell Inc.
All rights reserved.



LESSON

1.3

For use with pages 412-420

Standardized Test Practice

GA QCC: 1, 38, 40, 41,
46

GHSGT: 4, 22

TesT TAKING STRATEGY Make sure that you are familiar with the directions before
taking a standardized test.

1. Multiple Choice Use the figure below to
determine which segment represenf®a
clockwise rotation oAB abolR.

& BC
- B c
B CD
o A D
«C> DE P
‘D AH HKJE
(E> HG a A

2. Multiple Choice Which description of a rota
tion would map the figure below onto itself?

clockwise45°

© >

clockwise90°

N/

clockwise180°

counterclockwise
45°

none of these

oo
%

N

(E>
Multiple Choice Use the figure below for
Exercises 3 and 4. State the segment or triangle
represents the image.

A B Cc
1~ N J
HEM Q 10 Np
L P K
G F E

3. A 90° clockwise rotation oHI abou.
(Ao LF (B~ HL «©
‘D BJ (E> JD

K

4. A 90° counterclockwise rotation @O aboBt
(A. QN B> MQ «© LP
(D> OK (E> LM

Copyright © McDougal Littell Inc.
All rights reserved.

5. Multiple Choice Find the angle of rotation
that mapsAABC
onto AA"B"C”.

60°
30°
120°

180°
None of these

mo o w >

6. Multiple Choice AABC has vertices
A(—2,1), B(3,2) andC(5, —1). What are the
coordinates of the vertices 6fA'B'C”  after
a rotation ofl80° clockwise about the origin

A(2,-1),B(-3,-2),C(-51)

A(-2,-1),B(-3,-2),C(-5 -1

A(-2,-1),B(-3,-2),C(-51)

A(2,1),B13,2),C"5,1)

A(2,-1),B"3,2),C(-51)

. Quantitative Comparison Use the dia-
gram below to find the value of each
variable in the rotation of the polygon
about point P. Choose the statement
below that is true about the values.

that

The value in column A is greater.

A
(B> The value in column B is greater.

o

The two values are equal.

The relationship cannot be determined
from the given information.

y+6 m

Column A| Column B
y z
Geometry
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LESSON

GA QCC: 38, 40, 41, 42,
46

Standardized Test Practice | GHsGT: 22

For use with pages 421-428

TesT TAKING STRATEGY  If you find yourself spending too much time on one test
question and getting frustrated, move on to the next
question. You can revisit a difficult problem later with a

fresh perspective.

1. Multiple Choice The translation “5 units to 4. Multiple Choice Name the vector that
the left and 3 units up” in coordinate notatior describes the translation.
would be ? . -
— L (—6,4) P T Ty
A (XY - (x+5Yy+3 ™ (_5'3 3
B Xy -x+5y-73 SL9.0 [ NPA% Y o)
, R 2
€ (xy)-Kx-5y+3 (-4,0) 1] JoTx
e S!
D (%Y - ((x+3y—05 {_13 _2\\\\/?/
E (xy) - (x—3,y+5) . 12.=3)
_ . _ A (—6,—3) B> (6,3)
2. Multiple Choice Choose the notation below o .
that describes the translation. C (—-3,6) D (3,—-6)
N y (E~ (6, —3)
3
2 \ 5. Multiple Choice The coordinates of\JKL
§ 1o~ areJ(—1,2), K(—2, —1), and_(2,1). The
e component form oMN i$3, —4). What are
\| 1 X the coordinates oA J’K’L” after the
™ translation usingViN?
(xy) (X — 3 2 A J(—4,-2),K1(1,-3),L(5 -5
B XYy ->Kx—3y+ .
A ( y) s y y B (2 -2),K(1, —3), L5 —3)
B XYy - (xXx—3y— A
c y) ( ¢ ) © (2 -2,K(L -3),L5 -5
C Xy -x—4y+ )
- ( y) s Y ) D 32 -2),K(1 —5), L5 —3)
D Xy ->XxX—4y—
o : E I(-4-2),K(L ~5),L(5 3
E Xy ->x+4y+3
_ _ 6. Quantitative Comparison A translation
3. Multiple Choice Choose the correct name of A and B is described by NM = <7 2>
and component form of the vector shown. Solve for the indicated variable. Choose
A Jﬁ,(& 4) the statement below that is true about
B JH(-3 —4) J the value of tl.le variable. |
© JH(-4 —3) Y @ The value fn column A |.s greater.
D m’<3’ 2 / E The value in column B is greater.
E HI(—3, —4) ; \(; The two values are equal.
(D> The relationship cannot be determined
from the given information.
Column A Column B
A(—3,x), A(4,4) | B(y,5),B(10,7)
Geometry Copyright © McDougal Littell Inc.
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LESSON

1.

TesST TAKING STRATEGY

For use with pages 430436

Standardized Test Practice

GA QCC: 38, 40, 41, 42,
46

GHSGT: 22

One of the best ways to prepare for the SAT is to keep up

with your regular studies and do your homework.

1. Multiple Choice Which two transforma-

tions were performed to obtakB” in the
diagram?
B, 1Y B’
/ \
A 1 A
1 X
B!
\
Al
(A> Rotate about the origin, then reflect in

X =Y.
(B> Reflect in thex-axis, then translate
parallel tox-axis.

Reflect in the linex = 1, then translate

parallel tox = 1.

(D> Reflectin the liney = 1, then translate
parallel toy = —1.

(E~ Translate parallel t& = 1, then reflect

in linex = 1.

2. Quantitative Comparison Use the
composition to locate points A” and
B”. Choose the statement below that
is true about the given lengths.

\B/‘
‘C> The two values are equal.

The value in column A is greater.
The value in column B is greater.

D~ The relationship cannot be determined

from the given information.
Given: A(—4,0),B(-2, —1)
Translation 1. reflect ik = 1
Translation 2: rotat®0° counterclockwise

about(2, 1)
Column A Column B
length of AA” | length oBB”

Copyright © McDougal Littell Inc.
All rights reserved.

3. Multiple Choice Using the composition
below, what are the coordinates of the end-
points of A”B” ?

Given: A(1, 3), B(2, 5)

Rotation: 90° counterclockwise abotit, 2)
Reflection: iny = x

A”(0, 0), B(1, —2)
A”(—2,1),B"(—4,0)
A”(2,1),B"(—4,0)

A”(2,1), B”(4,0)

A”(0,0),B"(—1, 2)

=
AN

\
I

S

)
N

4. Multiple Choice Translation 1 mapA to

A’. Translation 2 mapa’ t4”. What trans
lation below map# to A”?
Translation 1:(x,y) - (x — 2,y + 6)

Translation 2:(x,y) - (x + 7,y — 6)

A (Xy) > (x—5Yy+6)
B (xy) - x+5Y)
0 (XYy) > (x+5y+12)
D XYy -x+9y-—12
E (xy)-(x=9Y)

5. Multiple Choice Using the composition
below, what are the coordinates of the end-
points ofC”"D”?

Given: C(—2,3),D(3,4)

Rotation: 90° clockwise about origin
Reflection: inx =1

(A, C"(5 —2),D"(6,73)

@ C”(1,2),D"2,3)

&> C”(-5,—-2),D"(—6,3)

® C”(-1,2),D"(-2,73)

(E- C"(—1,2),D"2,3

Geometry
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In Exercises 2-7, use these classifications.

LESSON

16

For use with pages 437-444

Standardized Test Practice

GA QCC: 38, 40, 41, 42

GHSGT: 22

TesT TAKING STRATEGY Do not put added pressure on yourself to do well. If you are

not satisfied with your SAT score, you can take it again.

1. Multiple Choice A frieze pattern is a pat-
tern that extends to the left and right in such
a way that the pattern can be mapped onto
itself by a

CA> vertical translation.

B vertical reflection.

(C> horizontal translation.

D~ horizontal reflection.

E> horizontal glide reflection.

T translation

R 180° rotation

H horizontal reflection

V vertical reflection

G horizontal glide reflection

2. Multiple Choice Name the isometries that
map the frieze pattern onto itself.

Pd@d@d

¢.9)
D TH

© TV
& TG

3. Multiple Choice Name the isometries that
map the frieze pattern onto itself.

PO CQ

A TR @B TRH C TH
D> TRHV ‘E> TRHVG

4. Multiple Choice Name the isometries

that map the frieze
pattern onto itself.
(A> TH

B TR © THV
D TV E  THG
Geometry

Georgia Standardized Test Practice Worklbook

5. Multiple Choice Which design below is a
frieze pattern with a classification of TV?

BREERN

 dokokokok

© 00000

COAORNONC)

AN AN AN AN AN
N AA A A v

o

m

6. Multiple Choice Which design below is a
frieze pattern with a classification of TRVG?

ERSRNe!
00000
EDDYDIBID),

° ™M o /\."\

©

7. Multi-Step Problem Use the pattern below
to create a frieze pattern with the given classi-
fications.

4

a. T

b. TV

c. THG

d. TRHVG

Copyright © McDougal Littell Inc.
All rights reserved.



LESSON

6.1

For use with pages 457-464

Standardized Test Practice

GA QCC: 1,2

GHSGT: 4, 9, 19, 36, 40

TesT TAKING STRATEGY Work as quickly as you can through the easier sections,
but avoid making careless errors on easy questions.

. : . 3ft
1. Multiple Choice Simplify 8in
A 3 B 2 c 3
D 6 B 3
2. Multiple Choice Simplify -2
125cm
A 25 (B> 0.04 © 4
D 0.25 (E> 40

3. Multiple Choice The perimeter of rectangle
ABCDis 72. The ratio of the lengths of the

sides is 1:2. What are the lengths of the sides*

"A> 12 and 18 (B> 12 and 24
€ 45and9 (D 6and12
‘E- 9and 18

4. Multiple Choice The perimeter oAHIJ is
36. The extended ratio of the sides is 2:3:7.
Find the lengths of the sides.

@ 3,4,9 B> 4,6,14
© 8,12,28 ‘D 6,9,21
E> 2,3,7
5. Multiple Choice Solve _ 3
X+7 xX+2
A 2 B 3 © 3
D 3 & 7

6. Multiple Choice Which ratio describes the
simplified width to length ratio oABCD?

A 7.0in. B
2.5in.
D c
A % ® % ¥ %
n 2 ®

Copyright © McDougal Littell Inc.
All rights reserved.

7.

Multiple Choice The ratio of side lengths
of AABC to ADEF is 3:1. Find the lengths
of EF andAC.

A D

3
Eml__

‘A EF =3 AC=3.5

(B> EF =6,AC = 9.5

€ EF =6,AC=3.5

D EF =6,AC =21

E EF = 12,AC = 317

Quantitative Comparison For Exercises 8
and 9, use the number line below to find

the

ratio of the distances. Choose the

statement below that is true about the
given values.

N

)

“A> The value in column A is greater.

(B> The value in column B is greater.

C. The values are equal.

D> The relationship cannot be determined
from the given information.

A B C D EF
o110+
-4 -2 0 2 4 6 8 10

Column A Column B
EF cb
AB CE
AC DF
BE BD

Geometry
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LESSON

6.

For use with pages 465-471

Standardized Test Practice

GA QCC: 1,2

GHSGT: 4,5, 9, 19, 36,
40

TesT TAKING STRATEGY Do not panic if you run out of time before answering all of
the questions. You can still receive a high test score with-
out answering every question.

1. Multiple Choice Which choice below com-

pletes the sentence to make a true statemer
“If 3 = z,then ?
Xy
§—X ‘B §_¥ Y o) E_Z
X 7 B7=% \Q'/3_y
D 3_X (E> none of these
7y
2. Multiple Choice Which statement is false?
A 2 _Y 5+x y+3
A If < 3 then—— 73 .
e 17 8 17 x+ 2
B o= 10th B8 10
o R ety _1r+x
X y y
A 6+7 5+n 6_5
(D> |If - = ,then7
e QX 12 7
E> If - 12 then 9
AB AC
3. Multiple Choice In the dlagramBD CE’
Find the length ofAE.
@A 75 D
«C 175 B
- 1
\D/‘ 13§ 8
\E,/‘ 28%
E C 10 A
. . uv WX
4. Multiple Choice In the dlagramUZ WY
Find the length ofWX.
R 1
A 23 U w
B 2
> 105 3
D 4z y
‘\E, ) 11%
Geometry

Georgia Standardized Test Practice Worklbook

t?

5. Multiple Choice The geometric mean af

and 5 is 15. Find the value nf
A>3 B> 10
D 5.3 45

6. Multiple Choice There are 36 students in a
gym class. Ifl of the students are freshmen
and3 of the remaining students are seniors,
how many seniors are in the class?

©

15

A 6 B 12 ¢ 15
D 18 E 24

7. Multiple Choice The points(—3, 1), (3, 3),
and(x, 5) are collinear. Find the value>oby
setting up and solving a proportion.

a1 B 2 © 9
D 5 E 4

8. Multiple Choice A model truck is 13.5
inches long and 7.5 inches wide. The original
truck was 12 feet long. How wide was it?

A 65t B 75ft © Gft
‘D 8.4ft E 2161t

Quantitative Comparison In Exercises 9
and 10, choose the statement below that
is true about the given value.
(A> The value in column A is greater.
(B> The value in column B is greater.
(C> The two values are equal.

(D> The relationship cannot be determined
from the given information.

Column A Column B
The geometric mean The geometric mean
9. of 8 and 16 of 7 and 19
10 The geometric mean The geometric mea

of 5 and 12

of 6 and 10

Copyright © McDougal Littell Inc.

All rights reserved.



LESSON

6.3

For use with pages 473-479

Standardized Test Practice

GA QcCC: 20, 21, 23

GHSGT: 22, 23, 24, 40

TesT TAKING STRATEGY Always look for shortcuts that will allow you to work
through a problem more quickly.

1. Multiple Choice HeptagonsABCDEFand
MNOPQRare similar. Which statement of
proportionality isnottrue?

M N
A B
E D
Q P
BC _ ED p, RQ_OP
B N0~ op ‘B T oD
o RM_CD +n, MN _ DE
© AF  OP € AB  PQ
e BC_FA
B NO RM

2. Multiple Choice The two trapezoids shown
are similar. What are the valuesxadindy?

A x =40,
y =10

B x=55 2Xfo 15
y=5 2y

C> x =55 708
y=10 o "2

D x=110,y=5 E> x=110,y =10

3. Multiple Choice Find the scale factor of

MNOPto QRST given thatMNOP ~ QRST.
A> 15

M 10 N
B/ 35 5
o Q R
C 2:5 2 P
D 52 Tq(s
E 53 S
o)

4. Multiple Choice The ratio of the perimeters
of AABC to AKLM is 3:5. Which ratio could
notbe a ratio of two corresponding sides?

o

15 6 ,
(D 35 ‘E> 6:15

Copyright © McDougal Littell Inc.
All rights reserved.

5. Multiple Choice ABCD ~ EFGH. The
perimeter ofABCDis 18. What is the length
of BC?

E 8 F
A B 6/ \7
D C H 15 G
A 4 B 3 © 7.5
D> 3.5 E 7

6. Multiple Choice The ratio of one side of
ABCDto the corresponding side BFGH s
1.5 to 4. The perimeter &FGH is 38 inches.
Find the perimeter cABCD.

(A 14.25in. (B> 285in. € 63in.
D 1013in.  E® 505in.

Quantitative Comparison In Exercises 7
and 8, use the diagram to choose the
statement that is true given that
ABCDE ~ LMNORP.
CA> The value in column A is greater.
B> The value in column B is greater.
(C The two values are equal.

‘D> The relationship cannot be determined
from the given information.
L9 m
X
A 7
B 6 N
2z C
d 13.5
E 8 D P 12 O
Column A Column B
7. X y
8. AE + AB LP
Geometry
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0.4

For use with pages 480487

Standardized Test Practice

GA QcCC: 20, 21, 23

GHSGT: 22, 23, 24, 40

TesT TAKING STRATEGY When checking your work, try to use a method other than

the one you originally used to get your answer. If you use
the same method, you may make the same mistake twice.

1. Multiple Choice The triangles below are
similar. Which choice below is the correct
statement of proportionality?

A

B
@>DE BE E%(E BC §§=§E
NN

2. Multiple Choice Which angle is congruent

to £M in the similar triangles below?
A LN N
B £Q Q
C> ~,QOP ©
D /P

(E~ cannot be =
determined M

3. Multiple Choice The triangles are similar.

Which of the foIIowing isnota correct state-

ment?
A K= LF ® AFEG~ AKLM
© £GP o ML _KL
ML MK — FG FE
(B /M= /G
Geometry

Georgia Standardized Test Practice Worklbook

4. Multiple Choice AABC ~ ADBE. Find the

values ofx andy.

A X=6, A
y =10

B x= 13%,
y=10 94

© x=6,y=5

® x=13, .
y=5

E x=6y=%

. Multiple Choice What is the perimeter of

trapezoidBCDE?
26 A

28 /}/ANi
£ B

31 6
38

30 14
or 30.1

o0

y

6. Multi-Step Problem Use the diagram to

answer parts (a)—(e).

5 F 8

Find the length oBC.

. Find the length oBF.

What is the scale factor dfABF
. Find the perimeter af7BCDF.

e. Critical Thinking Explain how you could
show thatAABF ~ AFDE.

T 9

WACE?

e o

Copyright © McDougal Littell Inc.
All rights reserved.



LESSON

GA QCC: 6, 20, 21, 23

85 Standardized Test Practice | GHsGT: 22 23 24,40

For use with pages 488496

TesT TAKING STRATEGY Sketch graphs or figures in your test booklet to help you
solve the problems. Even though you must keep your
answer sheet neat, you can make any kind of mark you
want in your test booklet.

1. Multiple Choice Use the diagram below to ‘C> AABD ~ ADEC by SSS Similarity Thm.
determine which statement(s) are true. ‘D" AABD ~ AECD by AA Similarity Post.
10 7’3 ) (E> AABD ~ ADEC by AA Similarity Post.
A8 C g5 4. Multiple Choice Which similarity statement
6 and postulate or theorem correctly identifies
b 12 F . the triangles’ relationship?
6 3
Gél
I. AABC ~ ADEF
Il. AABC ~ AGHI
lll. ADEF ~ AGHI
A | B © I 5
D landlll  (E> none of these AABD ~ ACDE by SSS Similarity Thm.

AABC ~ ACDE by SAS Similarity Thm.
C AABC~ AEDC by SSS Similarity Thm.
@ AABC~ AEDC by AA Similarity Post.

2. Multiple Choice What is the scale factor for
the triangles below?

15 20 E> AABC~ AEDC by SAS Similarity Thm.
9 12
5. Multiple Choice Find the distance labeled
5> 132 in the diagram. -
‘A 2 B 4 c ¢ (A0 3251t g
o 2 }“ 3 vs B 425 . 3
. 2 ‘e 3 ]
s e ‘© 35ft %
3. Multiple Choice Which similarity statement ‘D 48.2 ft 10 ft
and postulate or theorem correctly identifies .
the triangles’ relationship? E> 4351 26t 8ft
B 6. Multiple Choice Solve forx.
C (A~ 18.75 B
B 17.2 0
D . A X
Cc 18
A = D D 19 12 b
(A AABD ~ AECD by SSS Similarity Thm. c
(B> AABD ~ AECD by SAS Similarity Thm.
Copyright © McDougal Littell Inc. Geometry

All rights reserved. Georgia Standardized Test Practice Workbook
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86 Standardized Test Practice | GHsGT: 4 36

For use with pages 498-505

TesT TAKING STRATEGY

GA QCC: 1, 15, 20, 21,
22

It is important to remember that your SAT score will not
solely determine your acceptance into a college or university.
Do not put added pressure on yourself to do well. If you are
not satisfied with your SAT score, remember that you can
take it again.

1. Multiple Choice What is the length oDP? 5. Multiple Choice Find the value of.
(A> 15 A 16
B> 36 ©

E 5P

2. Multiple Choice Which value ofAB would

makeEB || DC?
A 4

e

M

B 10 4

_ -~ y
> 5 0 \9,/ 40 04
D 6 3 D 54 12

' o 8 N 7

(E_~ 62

Quantitative Comparison In Exercises 6-8,
use the diagram below to solve for the

A indicated values. Choose the statement

B 8 that is true about the given values.

_ 51

© 18 The value in column A is greater.
' 28 c 5 The value in column B is greater.

<

36

B
2 © The two values are equal.
c D>

D

3. Multiple Choice Find the value ok.

meees>

The relationship cannot be determined
from the given information.

moo® >

22
24 20
26
28
15
30 X
| 42 I

4. Multiple Choice Find the value ok.

Column A Column B
6. BC GH

Geometry

1c
6 8 7. BD EG
22 18 8. AB + CD FH
36 X
54

24

Copyright © McDougal Littell Inc.
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0./

For use with pages 506-513

Standardized Test Practice

GA QCC: 1, 15, 20, 21,
39, 40, 41

GHSGT: 2, 4, 22, 23, 40

TesT TAKING STRATEGY Avoid spending too much time on one question. Skip ques-
tions that are too difficult for you, and spend no more than
a few minutes on each question.

1. Multiple Choice Which statements below
are true?

I. A dilation with a scale factor (ﬁ‘ is an
enlargement, 150% bigger.

II. A dilation with a scale factor cﬁ‘ is an
enlargement, 66% bigger.

I1l. A dilation with scale factok is a reduc-
tionif —1 < k < 1.

A | Bl ©
D> landll (B> lland 1l

2. Multiple Choice Which choice below cor-
rectly identifies the dilation and scale factor?,

“A> reductionk =
(B reductionk =
C enlargementk

” glw gl

D@ enlargementk

NloT gl g1

(B> enlargementk

3. Multiple Choice Which choice below cor-
rectly identifies the dilation and scale factor?,

\ = ¢

A reductionk = 3

(B> reductionk = 32

C  reductionk = %2
D enlargementk = 22

enlargementk = 3=

N
m
N

Copyright © McDougal Littell Inc.
All rights reserved.

4. Multiple Choice Find the values af andy.
2

A x=3,
y=28
B x =6,
y=28
€ x=6,
y=12 A’

D x=6y=4
E> x=24,y=4

5. Multiple Choice The dilation has centdt.
Find the values af andy.

A x=75y=21 B
E) x=6,y=14

x=10,y = 15
Xx=75y=14

Q

_ o

6. Multi-Step Problem §
a. On a coordinate plane, dratwWABC  with ;

verticesA(1, 5), B(3, 6), andC(3, 3).

b. Draw a dilation ofAABC. Use the origin
center and a scale factor of 2 to draw
AAB'C.

c. Find the length oB'C".

d. Draw a dilation ofAABC. Use the origin as
center and a scale factorpf to draw
AABC’.

e. Find the length oA'C”.

f. What scale factor could you use to go from
AAB"C”to AA'B'C’?

Geometry
Georgia Standardized Test Practice Workbook




LESSON

4.1

For use with pages 527-534

Standardized Test Practice

GA QCC: 1, 20, 21, 23

GHSGT: 4, 22, 23, 24

TesT TAKING STRATEGY Read each test question carefully. Always look for shortcuts
that will allow you to work through a problem more quickly.

1. Multiple Choice c
Use the diagram
at the right to
choose the cor-
rect similarity B
statement for the
three triangles. A

AABC ~ ACDB ~ AACD
‘B> AABC~ ACBD ~ AADC

€ AABC~ ACBD ~ AACD
(D> AABC~ ACDB~ AADC
(E> AABC~ ABCD ~ AADC

2. Multiple Choice Use the diagram in
Exercise 1 to choose the proportion that

is false.

+~ AB_CB ' BD_CD
A CB DB B CD AD
«~ AB_AC 4 BD_CD
€ AcTaD ‘D BT aB

(E~ none of these

3. Multiple Choice Use the diagram below to
identify the similar triangles and complete th
proportion. A
CA _BA
BA ?

(A, AC B
C DC D
(- DA

BD b

BC
B C

4. Multiple Choice Use the diagram below to
find the value oh. Round to the nearest hun-
dredth, if necessary.

(A& 960 B 950 16 h
(¢ 870 (D 10.23
E 925

12

()
~
g
2
Q

20

Geometry
Georgia Standardized Test Practice Worklbook

D

5. Multiple Choice Find the value of. Round
to the nearest hundredth.

‘A 320 B 529 .
© 255 D 4.45
E 132 7

6. Multiple Choice Find the value ok. Round
to the nearest hundredth.

10.2 8

3.08 >
8.06

5 X
8.13

> 0@ >

7. Multiple Choice Find
the value ofz. Round to
the nearest hundredth.

@> 42.68 B> 20.49
€> 64.29 (D 56.28 14
E  62.30 30

8. Multi-Step Problem You want to hang a
tire swing from a tree in your backyard. The
branch is horizontal to the ground. The dia-
gram shows the vertical distance from your
eye to the ground, and from you to the swing.

. What isHG?
. What isTG?

c. If the tire swing is to
hang2; feet from the
ground, and the tire HA
has a diameter of 3%
feet, approximately [f
how much rope is G
needed to hang the swing?

T o

d. Write a similarity statement for the three
triangles.

Copyright © McDougal Littell Inc.
All rights reserved.



LESSON

9.2

For use with pages 535-541

Standardized Test Practice

GA QCC: 1, 24

GHSGT: 4, 32, 35

TesT TAKING STRATEGY When checking your work, try to use a method other than
the one you originally used to get your answer. If you use
the same method, you may make the same mistake twice.

1. Multiple Choice Which equations below are

true aboutAABC? B
/l

a

A 5 c

A | @® o
D landll E

L a= JI- P
II. c= Va2 + b?

. b=c—a

all of these

2. Multiple Choice Find the value ok. Round
to the nearest tenth, if necessary.

25in. 16 in.

‘B> 26.4in.

© 14in. X

‘D 136in. 2Lin.
‘B 142in.

3. Multiple Choice Find the value of. Round
to the nearest hundredth, if necessary.

® >

A~ 10.25cm
B~ 15.26 cm
C> 25cm y 13 em
D> 21cm
(E_ 14.28 cm
8cm

4. Multiple Choice Find H :
the value ok.

5. Multiple Choice Find the
area of the figure.

\E/ 260 ft2 \B/‘
C 240ft2 D
E 140f1t2

1302 a4
120 ft2

10 ft

Copyright © McDougal Littell Inc.
All rights reserved.

6. Multiple Choice Find the area of the figure.
Round to the nearest tenth, if necessary.

307.5m?

A 39m

B 410m? om  ksm
© 585m? \\L[%
D 615m?

E 1230m?

7. Multiple Choice Find the area of the figure.
Round to the nearest hundredth, if necessary.

79.5 m?

>

12m
B 5361 m2 i’ \
m
© 75m?
TN 2 —I ;
D 57.0m 18 m
(E> 40.74 m?

8. Quantitative Comparison Use the
diagram below to find the variables.
Choose the statement below that is
true about the given number.

The value of column A is greater.

The value of column B is greater.

The two values are equal.

The relationship cannot be determined
from the given information.

o>

SRy

Q
Column A| Column B %
X y §
©
Geometry
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LESSON

GA QCC: 1, 24

93 Standardized Test Practice | GHsGT: 4,32 35

For use with pages 543-549

TesT TAKING STRATEGY Avoid spending too much time on one question. Skip ques-
tions that are too difficult for you, and spend no more than
a few minutes on each question.

1. Multiple Choice Let the numbers represent 6. Multiple Choice

the lengths of the sides of a triangle. Which Find the value of that
of the triangles are right triangles? makes the triangle an 26
I. 4,5,6 Il. 15, 20, 25 acute triangle. 18
. 15, 36, 39 IV. 5,13, 14 A 20 B 185
A ® | © lland Il ‘¢ 18 D 17 y
D Illand IV B> lland IV E 16

2. Multiple Choice If two sides of a triangle are 7. Multiple Choice G_iven pointgP(—z, 4) and
8 and 10, what measurement could represer Q(Z_’ 6) are two vertices in a right tr_|angle,
the third side if the triangle is a right triangle which point could represent the third vertex?

-VH

D AorB “E BorC (D> BandC <(E  none of these

3. Multiple Choice Let the numbers represent Qudantltall]tlve Co}:nparlson In beelrcise; 8
the lengths of the sides of a triangle. Which | 2nd 9. choose the statement below that is

of the triangles are acute triangles? true about the given value.
| 10. 24 26 Il. 6.8 9.5 (A> The value in column A is greater.
(B> The value in column B is greater.

’IVH' 12,17, 22 V. 45, 6375 (C> The values are equal.
A landll B I L Irand Il D> The relationship cannot be determined
@ B llland IV from the given information.
B F
4. Multiple Choice Which set of numbers
can represent the side lengths of an obtuse
triangle? x w
) y y
@A 1,2,3 ‘B 3,5, V34
«c 3,7,75 (D 12,15,3/41 —
E> none of these A2 c B =z G
5. Multiple Choice Find the value ok that Column A Column B
makes the triangle a right triangle. 8. X wwhenAEFG is acute
? A 12 9. X w when AEFG is obtuse
g. ® 13
g c 15 12 Y
O 17
® 20 5
Geometry Copyright © McDougal Littell Inc.
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94 Standardized Test Practice

For use with pages 551-557

GA QCC: 1, 24,25

GHSGT: 4

TesT TAKING STRATEGY Staying physically relaxed during the SAT is very important.
If you find yourself tensing up, put your pencil down and
take a couple of deep breaths. This will help you stay calm.

1. Multiple Choice Find the values of andy.
(A x=6,y=6/3

(B> x=3/2,y=62

C x=2/3y=4/3 6

(D x=6,y=6V2 —

B> x=6J2,y=6 X
2. Multiple Choice Find the values af andb.
A a=9b=9/2

(B a=18b=9/3 b
C a=9./3b=18

(D a=3./3,b=6/3 a

E> a=63b=3/3

3. Multiple Choice Find the values af andy.

A x=3/2,y=3 y
(B x=3y=3.2 =
€ x=2y=3/2 X
, 3
D x=3J2y= 2
<E) X = \/é, y = 3 —I 450
4. Multiple Choice Find the values afnandn.
A m=16§/§,n=873/é 8
]
® m=16,n= 8.3
. 8.3 16./3 ™
L m= 3 n= 3 (\300
[

(D> m=16.3,n= 16
E> m=8./3,n=16

Copyright © McDougal Littell Inc.
All rights reserved.

5. Multiple Choice Find the value ok.

5/2

A 5 @B 10,2 X
€ 52 @ 5 10
) 10
(B> —=
V2

6. Multiple Choice Find the 30°
area of the figure. Round to
the nearest tenth if necessar 18m

A 682m2 (B’ 935m?
€ 701m? (D 140.3m?
E 187.0m?
7. Multiple Choice The perimeter of a square

is 54 cm. Find the length of a diagonal, round-
ing to the nearest tenth.

‘A> 104cm B> 19.1cm € 13.5cm
D 224cm <(E 38.2cm
8. Multiple Choice The side of an equilateral

triangle is 12 cm. Find the length of an alti-
tude of the triangle.

(A 6/3cm @® 6V2cm €© 6cm
D 12/3cm E 12/2cm

9. Multi-Step Problem AABC is equilateral
andDEGFis a square.

a. FindDG. B
b. FindDlI.
c. FindDJ. D J \E
. T g
d. FindDB. / 3
. 5
e. FindBJ. i = . 5
f. Find the area of F H4{SOG ©
trapezoidADEG.
Round to the nearest tenth.
Geometry
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9.5

TesT TAKING STRATEGY

For use with pages 558-566

Standardized Test Practice

GA QCC: 1, 26, 27

GHSGT: 4, 35

If you find yourself spending too much time on one test

question and getting frustrated, move on to the next
question. You can revisit a difficult problem later with

a fresh perspective.

1. Multiple Choice Use the triangle below.
Choose the correct ratio to find tBn

. b a

A a B b B
. a b

c = D — ¢

c C D p Aa
b

B P A b c

2. Multiple Choice Find the
sine of ZA.

A> 0.3846 B~
> 0.9231 D
E 24

0.4167
1.0833

c
24&
B=Tg A

3. Multiple Choice Find the cosine of B.

A 1.7321
C 10 B
W
A

B~ 0.8660
© 2

4. Multiple Choice Use the diagram in

Exercise 3 to find the tangent ofB.

(D> 1.1547
E  0.5774

A 17321 (B> 0.8660 C» 2
(D 1.1547 E- 0.5774

5. Multiple Choice Find the value ok.
A’ 16sin35°
(B~ 16cos35°

X
16 35°

sin 35°
16

— sn35°
(E> 16tan3%°

Geometry
Georgia Standardized Test Practice Worklbook
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6. Multiple Choice Find the perimeter of the
triangle. Round to the nearest tenth.

(A> 42.21n.
@ 39.9in.
C 37.2in.
@ 39.1in. 37°
(E~ 33.1in.

10 in.

7. Multiple Choice Find the area of the
triangle. Round to the nearest tenth.

A 93.5cm?
B 62.4cm?
C 54cm? 30°

D 1403cm2 T 18em———

(E> 8lcm?

12 cm

Quantitative Comparison In Exercises 8
and 9, choose the statement below that
is true about the given value.

The value in column A is greater.
The value in column B is greater.
The two values are equal.

The relationship cannot be determined
from the given information.

B

oo m>

35° 40°
A D 15 C

Column A Column B
8. AD BC

9. BD + AB AD + BC

Copyright © McDougal Littell Inc.
All rights reserved.
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9.6

For use with pages 567-572

Standardized Test Practice

GA QcCC: 26, 27

TesT TAKING STRATEGY The mathematical portion of the SAT is based on material
taught in your high school mathematics courses. One of
the best ways to prepare for the SAT is to keep up with
your regular studies and do your homework.

1. Multiple Choice Which statements below
are true?

I. You can solve a right triangle if you are
given the lengths of two sides.

Il. You can solve a right triangle if you are

given the measure of the two acute anglgs.

lll. You can solve a right triangle if you are
given only one side and one acute angle

Al B> | @
D landll  E>

all of these
2. Multiple Choice Which is the approximate
measure of acute A whentan A = 0.698?
A 443 ® 1220 © 349
D 4.7 E 3B2
3. Multiple Choice In the diagram below, what

is the measure of M, rounded to the nearest
tenth?

K 636 Iy
63.4°
26.6°
264° 3
63.5°

moo®

o
4. Multiple Choice In the diagram below, find

the measure of Z. Round to the nearest tenth. 7.

(A 486  x

B 28.1°

© 6L U

D 4&

(E> 296° Y 15 4

5. Multiple Choice In the diagram in Exercise
4, find the measure ofY.

A 6 ® 10 < 7
D 9 (E> 8

Copyright © McDougal Littell Inc.
All rights reserved.

6. Multiple Choice In the diagram below,
what are the measures AB andCB, round-
ed to the nearest tenth?

A AB =469, CB=414 B .o
‘B> AB =249, CB = 46.9
(C> AB =469, CB =249
(D> AB=249,CB=1414
(E> AB=414,CB = 46.9 C o A

Quantitative Comparison In Exercises 7-9,
use the diagram below to find the values.
Choose the statement below which is
true about the given value.

‘A~ The value in column A is greater.
The value in column B is greater.
The two values are equal.

(D> The relationship cannot be determined
from the given information.

A
B
15
31°
E D5 C
Column A Column B
AD AB
8. DB BC
9. ED + BC AD + BC
S
3
)
‘
©
Geometry
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LESSON

9.1

For use with pages 573-580

Standardized Test Practice

GA QCC: 46

GHSGT: 3

TesT TAKING STRATEGY Make sure that you are familiar with the directions before
taking a standardized test.

1. Multiple Choice PointsM(7, —1) and
N(2, —8) are the initial and terminal points of]

vectorMN. Which choice below is the compag-

nent form ofMN?
A> (57) ‘B> 12.7
D (=5-7) B (9,-7)

© (9,-9

2. Multiple Choice PointsQ(4, 1) andR(12, 4)
are the initial and terminal points of vector
QR. What is the magnitude of vect@QR?

A 85 ® (8,3 € (-8 -3)
D 168 E (16,5)

3. Multiple Choice PointsA(—3,2) and
B(—6, —8) are the initial and terminal points

of vectorBA. What is its magnitude?

A (3,100 ® (-9 —-6) © 104

@D 106 ‘E> 108
4. Multiple Choice Use the diagram below to

find the magnitude and direction BF.
11.3,69.3° y
17.9,12.9°
17.9,77.1°
8.94, 26.5°
8.94, 63.5° 2

F

E

meo® >

2 X

5. Multiple Choice Letd = (5, —1) and
K = (15, 3). What isJ + K?

@A> (10,4) B (20,2)
€ (-10,-4) D (10,2)
E> (20,4)

Geometry
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6. Multiple Choice LetP = (7, —2) and
O = (—5,8). What is the component form

and magnitude aP + 6 rounded to the
nearest tenth?

A (2,6),63
© (12,-10),156 D
E (—12,10), 15.6

B (2,-6),6.3
(—2,6),6.3

7. Multiple Choice LetA = (x, 4) and
B = (14,y). If A + B = (12, 6), what are
the values ok andy?

A x=-2,y=10
C x=2,y=10
B> x=-2y=-10

D
{ 1
B>
=

X=-2,y=2
X=2y=—-2

8. Multiple Choice Vector XY = (5,9).
Which vector below has the same magnitude
but a different direction?

& (-3,2) B (4,100 ©
D (4,100 E> (=59

(10, 18)

9. Multi-Step Problem A jet is flying from
Cleveland to New York. A smaller plane takes
off from the same airport and heads towards
Detroit. They both encounter a strong wind
blowing from the west at 80 miles per hour,
represented bw = (80, 0).

a. The jet’s velocity vector is represented by

i = (450, 510). What is its speed and
direction if there were no wind?

b. The plane’s velocity vector is represented
byf) = (—300, 200). What is its speed
and direction if there were no wind?

c. What is the jet’s speed and direction after
encountering the wind describedWwy ?

d. What is the plane’s speed and direction
after encountering the wind described by
W?

Copyright © McDougal Littell Inc.
All rights reserved.
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GA QCC: 28, 29

Standardized Test Practice | GHsGT: 29

For use with pages 595-602

oL 491dey)

TesT TAKING STRATEGY Sketch graphs or figures in your test booklet to help you
solve the problems. Even though you must keep your
answer sheet neat, you can make any kind of mark you
want in your test booklet.

For Exercises 1-5, use the diagram below. 5. Multiple Choice HJ is best described as a
(A> secant. B chord.
(€C> common external. D> common internal
tangent. tangent.

(E> diameter.
6. Multiple Choice What is the diameter of
oC?
A8 B 4 ‘
€ 3 D 2 .
e [

7. Multiple Choice How many common

1. Multiple Choice FB s best described as a

@ radius. ® diameter. tangents do the circles have?
c> chord. D secant. ‘A 0 B 1
2. Multiple Choice AJ is best described as a (B> 4
(A~ diameter. B secant.
€ chord. 8. Multi-Step Problem Use the diagram below
D> common external tangent. to answer parts (a)—(d).
(E~ common internal tangent. y
<> 1/ \\
3. Multiple Choice CD is best described as a / \
A diameter. (B> secant. A
mt N2 ] 2 ,/ \\
€ chord. /) \
‘D> common external tangent. \1 B -
(E> common internal tangent. \ /
\\ //
4. Multiple Choice CG is best described as a
A> diameter. B> radius. a. What is the center and radius@A?
C secant. D’ tangent. b. What is the center and radius©B?
(E> chord. c. What is the intersection of the circles?

d. Describe the common tangents to the cir-
cles. Are they internal, external, or both?

Copyright © McDougal Littell Inc. Geometry
All rights reserved. Georgia Standardized Test Practice Workbook
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For use with pages 603-611
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For Exercises 1-4, use A
the circle at the right.

55°

1. Multiple Choice Find mBC.
‘A 55° B 9 © 3K
D 110° E 125°

2. Multiple Choice Find mCD.
(A~ B5° ® 90° ©c 35°
D 1100 E 125°

3. Multiple Choice Find mCAE .
A> 180° (B> 125° © 145
(D 215° E> 300°

4. Multiple Choice Which statement iaot
true?
(A> mMAC=mCD (B> mAB= mED
(€ mAE = mBC + mCD
(D> mCD=mAE &> mAD = mEB

5. Multiple Choice Find the value ok.
A 20 B 30

EXA X g
C> 45 (D> 50
‘E> 60
C
5x°
D
Geometry
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1[]2 Standardized Test Practice

GA QCC: 28, 29

GHSGT: 29

TesT TAKING STRATEGY Do not panic if you run out of time before answering all
of the questions. You can still receive a high test score
without answering every question.

6. Multiple Choice What ismEDB in

Exercise 5?
A 100° @B 150° «c> 300°
D> 330° (E> 340°

7. Multiple Choice Use the diagram to find
the value oi. Round to the nearest

hundredth, if necessary.

ae Twe 0N

© 562 (D 6.31 N
\_

(E> 5.83
8. Multiple Choice Use the diagram below to

find the value ok.
=8

@& 10 B 20
c 22 D 11 o
(E> 44

Quantitative Comparison In Exercises 9 and 10,
use the diagram that is true.

(A> The value in column A is greater.
(B> The value in column B is greater.
(C> The two values are equal.

(D> The relationship cannot be determined
from the given information.

A
Q
G
C\i/B
Column A | Column B
9. | m£DGE m£DAE
10. | mABC mCAB

Copyright © McDougal Littell Inc.

All rights reserved.
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For use with pages 613-620

TesST TAKING STRATEGY

fresh perspective.

1. Multiple Choice

. — A B
What ismAB?
A 10° (B> 20°
© 30° (D 40°
(E> 60°
C

2. Multiple Choice If an inscribed angle has a
measure o0f00°, what is the measure of the
intercepted arc?

(A> 100° B 200° € 50°
D o° (E> 180°

3. Multiple Choice Find the value ok.
A 178B> 356
@© 89 D 182
1789
E 91

P (L

4. Multiple Choice If mLNM = 280°, find the

value ofy.
140 ‘

(A> 40 B> 8
QG/ 160 \D/
5. Multiple Choice Find the values ch andb.

(E> 280

A a=50,b=50 -
B a=25b=50

(¢ a=50,b=25

‘D> a=25b=25

B> a=100,b=25 A

Copyright © McDougal Littell Inc.
All rights reserved.

103 Standardized Test Practice

If you find yourself spending too much time on one test
question and getting frustrated, move on to the next
question. You can revisit a difficult problem later with a

6.

GA QCC: 2, 28, 29

GHSGT: 29

oL 491dey)

Multiple Choice Find the value ok.

A>5 B 3 (12x + 10)°
> 8 D 10
(E> 75

7.

8.

Multiple Choice Find the values ot andy.

A x=80,y=75
B> x =105y =100
£ x=75Yy=280
(D> x =100,y = 105
E x=90,y=115
Multiple Choice Find the values ot andy.
(A x=6y=84 5
B x=42,y=48 ,
© x=4d2,y=42
D x=90,y=284 .
E> x=48y =42 o C

D 84°

Quantitative Comparison In Exercises 9 and

10,

use the diagram to choose the statement below

that is true.

10.

The value in column A is greater.
The value in column B is greater.

A
( B )
©
)

The two values are equal.

The relationship cannot be determined
from the given information.

Column A | Column B
mAB mED
X y A

100,

Geometry
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GA QCC: 28, 29

1[]4 Standardized Test Practice | GHsGT: 29 31

For use with pages 621-627

TesT TAKING STRATEGY The mathematical portion of the SAT is based on material
taught in your high school mathematics courses. One of
the best ways to prepare for the SAT is to keep up with
your regular studies and do your homework.
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1. Multiple Choice 6. Multiple Choice
Findmz1. Findmz1. 1507
A" 1700 B 85° 170° ‘A 75° (B> 190°
© 190° D 95 € 95 @D 150° 40
(B> 340° E> 40°
7. Multiple Choice
2. Multiple/ghoice Findm/ 1. 86°
Flnd mAB A\ 640 KF 320
(A 110° B 700 © 108 DO 5
© 140° D 220° @ g6 R l
E® 35 R
B 8. Multiple Choice Find the value of.
A> 26
3. Multiple Choice o
Find m ABC. BT
(A\ 580 B\ 1160 /K(,:) 102 (5X_ 1)0
(D> 51

c 122° D 29

C E) 2440 C E > 52 (gx _ 3)0

4. Multiple Choice If mEGF = (6x + 12)°,

find the value ok. Quantitative Comparison In Exercises 9 and 10,

choose the statement that is true.

@A 22 B 11 { (A~ The value in column A is greater.
© 16 D 10 G (B> The value in column B is greater.
E& 20 (C> The two values are equal.
= (D> The relationship cannot be determined

from the given information.
5. Multiple Choice If mLNM = (8x + 12)°,

find the value ok. N
A 14 B 16.8
C 28 D 29 M B
E> 34.8 I F D C \56°
L Column A | Column B
9. | m/EAB mAC
10.| mCD mAE
Geometry Copyright © McDougal Littell Inc.

Georgia Standardized Test Practice Workbook All'rights reserved.
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For use with pages 629-635

TesT TAKING STRATEGY Make sure that you are familiar with the directions before
taking a standardized test. This way, you do not need to
worry about the directions during the test.

1. Multiple Choice
Find the value ok.

@A 3
\c) 5 D\
(E> 8

2. Multiple Choice

Find the value of.

A 2 B 3 !
© 4 D 'y
(E~ 6

105 Standardized Test Practice

T 96 D

4. Multiple Choice
Find the value of.
(A> 32 B 128
© 49 D

(E> 1.8

5. Multiple Choice Find the value ok. Round
to the nearest tenth, if necessary.

3. Multiple Choice
Find the value ok.
A 10 ® 5

A 22 @ 88

© 53 D 66

E 14 A
X

Copyright © McDougal Littell Inc.
All rights reserved.

GA QCC: 1, 28, 29, 46

GHSGT: 4, 29, 31

oL 491dey)

6. Multiple Choice You are standing 16 feet
from a circular swimming pool. The distance
from you to a point of tangency is 25 feet.
What is the approximate diameter of the
pool?

A 231t (B 46 ft @© 19ft
@D 38ft E> 151t

7. Multiple Choice Find the values of andy.
Round to the nearest tenth, if necessary.
A x=144,y =18 8
B x=12,y=28
€ x=144,y=18

X l
D x=12,y =18
(B> x=24,y=28 }

Quantitative Comparison In Exercises 8 and 9,
use the diagram to choose the statement below
that is true.

The value in column A is greater.
The value in column B is greater.
The two values are equal.

. The relationship cannot be determined
from the given information.

sowb;

P

)

Geometry
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For use with pages 636640

1[]6 Standardized Test Practice

GA QCC: 42, 46

GHSGT: 29

Test TAKING STRATEGY Work as quickly as you can through the easier sections, but
avoid making careless errors on easy questions.

1. Multiple Choice What is the standard form
of the equation of a circle with cent&;, —2)
and radius 4?

A xX—=3°+(y—2?=4
® (x—32+(y—22?=16

C (x—32+(y—22%=38
D (x+32+(y+22=16
E (x—32+(y+22=16

2. Multiple Choice What is the center of a
circle with an equation of
(X + 52+ (y— 1?2 =367

A (6,0 B> (0,6)
€c (=51 ‘D (=5 -1
E (51

3. Multiple Choice What is the radius of a
circle with an equation of

-3 - B = B

X 2 4 3

A 3 ® g © 3
5 e 25

D@ 3 E 3

4. Multiple Choice What is the center and
radius of the circle in the diagram?

A (1,4),2 y
B (4,3),2 sl
«© (3,4),2
D (4,3),4 NS
E (3,4),4 ——

1 X

5. Multiple Choice What is the equation of the
circle in Exercise 4?

A (x+4)2+(y+32=
B -3+ (y-42=2
© (x+4)2+(y+332=4
D (x—-32+(y—42=4

E x—12+(y—42=4

Geometry
Georgia Standardized Test Practice Worklbook

6. Multiple Choice The center of a circle is
(2, 4) and a point on the circle {s-1, 4).
What is the equation of the circle?

B (x+ 42+ (y+2)2=9
B x—22+(y—-4?=

©C X+ 22+ (y+ 472

D xR+ (y+4P=3
E x—27+(y—43°=3

7. Multiple Choice A diameter of a circle has
endpoints of —5,6) and—5, —2). What is
the equation of the circle?

A (x+52+(y—22=16
B (x—52+(y+22=4
© (x+52+(y—22=4

D (xX+52+(y—22=64
E (x+5°2+(y—42>=4

8. Multiple Choice The center of a circle is
(5, —3) and its radius is 4. Which point lies
on theexterior of the circle?

A (4,-2) B (6,0
> (4,-5 D (-1, -4
(B> (1,-3)

9. Multi-Step Problem The center of a circle
is (x, 2) and its radius is 3. Assume> —4.

a. If another point on the circle {s-4, 2),
what is the value of?

b. What is the equation of the circle in
standard form?

c¢. Graph the equation from part (b).

d. Name a poinbnthe circle, a point in the
interior of the circle, and a point in the
exteriorof the circle.

Copyright © McDougal Littell Inc.
All rights reserved.
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For use with pages 642-648

TesST TAKING STRATEGY

1[]7 Standardized Test Practice

It is important to remember that your SAT score will not
solely determine your acceptance into a college or
university. Do not put added pressure on yourself to do
well. If you are not satisfied with your SAT score,

GA QCC: 1, 3,42, 46

GHSGT: 4, 29

oL 491dey)

remember that you can take it again.

1. Multiple Choice What is the locus of all
points in the coordinate plane that are equid
tant from pointg3, 2) and3, 16)?

(A> Thelinex=9 (B> Theliney=9
< (3,9 (D> Thelinex = 3
E> (3,14) and(3, 18)

2. Multiple Choice What is the locus of all
points in the coordinate plane that are equid
tant from pointsA(1, —2) an®(3, —2) and
are /5 units fronB.

(A> Thelinex=2 (B Theliney =2
© (2,-32),(2,22)
® (2,v2),(2-4v2)
® (20,249
3. Multiple Choice What is the locus of all

points that are equidistant from the lines
y = 2x + 2and3x — 5y = —50.

‘A (0,6

‘B Theliney =3+ 4

© Theliney =2+ 6

D (0,6) and(—10, 0)

E. Thelinesy = 3 + 12 ang/ = 3x

4. Multiple Choice PointD is in the interior of
/ ABC. What is the number of possible locus
points in the interior o ABC that are
equidistance fromx. ABC and 1 inch from
pointD?

A~ 0 points
B
(c )

D

1 point
2 points

all points on thel.  bisector af ABC

5.

n

cannot be determined

E

Copyright © McDougal Littell Inc.
All rights reserved.

For Exercises 5-7,
s- use the graph at
the right.

6.

8.

Multiple Choice
Find the locus of
points in the
coordinate plane
that are equidistant

from H andl.
A Thelinex=3 (B> Theliney =5
(€ The liney = % D (5,2) and(0, 2)
E (52

Multiple Choice Find the locus of points that

are 4 units frond.

(5, 2) and(5, 10)

The circle(x + 5)2 + (y + 6)> = 16
(1, 6) and(9, 6)

The circle(x — 52 + (y — 6)> =8
The circle(x — 5)? + (y — 6)> = 16

o w5

N\
o

Multiple Choice Find the locus of points
that are 2 units fromdH.

B y= —%x —
(D, AandC

2

3

Multi-Step Problem You are given
seismograph readings from three locations.

« At A(4, 6), the epicenter is 10 miles away.
e At B(—2, —4), the epicenter is 6 miles away.
« At C(10, —4), the epicenter is 6 miles away.
a. Graph pointsA, B, andC on a coordinate

plane.
b. What is the locus oA, of B, and ofC?
¢. Find the epicenter.

Geometry
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1.1

For use with pages 661-668

Standardized Test Practice

GA QcCC: 13

GHSGT: 29, 30

TesT TAKING STRATEGY Staying physically relaxed during the SAT is very important.
If you find yourself tensing up, put your pencil down and
take a couple of deep breaths. This will help you stay calm.

1. Multiple Choice What is the value of?
100
140
120
150
110

° 60w >

N\
m

(A> 50
‘B> 100
C 130
@ 75
E® 40

3. Multiple Choice The measure of each
interior angle of a regular polygon1gd4°.
How many sides does the polygon have?

A 8 B> 9 © 10
D 12 ‘E 14

4. Multiple Choice Find the value oxk.

@A 31.25 X
2x°

B> 16.25 i
(2x + 20)] 3x

© 26.25

‘D 28.75 (x + 10)°

E 1375 J(ax — 15y

5. Multiple Choice A convex heptagon has
interior angles that measut20°, 115°, 135°,
95°, 155°, and125°. What is the measure of
the seventh interior angle?

A 120° @ 115° > 13%5°
‘D 155° (B> 95°
Geometry

Georgia Standardized Test Practice Worklbook

6. Multiple Choice What is the sum of the
measures of the interior angles of a convex
16-gon?

C(A> 1800°

B> 2520°
D> 2700° E>

2340° >
2880°

7. Multiple Choice What is the measure of
an exterior angle if the regular polygon has

18 sides?
A 18 B 20° c 2z
D 24 (E> 26°

8. Multiple Choice A convex octagon has
exterior angles that meas8%°, 41°, 25°,
55°, 62°, 17°, and38°. What is the measure of
the exterior angle of the eighth vertex?

A 267° B 45° © 17r
D 187 (E> 87°

Quantitative Comparison In Exercises 9
and 10, choose the statement that is true.

CA> The value in column A is greater.
(B> The value in column B is greater.
© The two values are equal.

‘D> The relationship cannot be determined
from the given information.

Column B

The sum of the
interior angles of

a pentagon
The number of sides
of a regular polygon
whose sum of the

interior angles

measure8240°

Column A

The sum of the
9. | exterior angles of
a 19-gon
The number of sides
of a regular polygor
10. with an exterior
angle measuring0°

Copyright © McDougal Littell Inc.
All rights reserved.



LESSON

For use with pages 669-675

1 12 Standardized Test Practice

GA QcCC: 30, 32, 37

GHSGT: 26, 27, 29, 35

TesT TAKING STRATEGY Avoid spending too much time on one question. Skip ques-
tions that are too difficult for you, and spend no more than
a few minutes on each question.

1. Multiple Choice Find the area of the
triangle. Round to the nearest hundredth, if

necessary.
(A~ 12 square units
31.18 square units

5.20 square units

o 0=

10.41 square units

m g

(N =%

15.59 square units

2. Multiple Choice Find the area of the
inscribed regular pentagon below. Round to
the nearest tenth.

(A> 422.3 square units >
(B> 344.4 square units

(C> 211.1 square units

D 688.7 square units 4 /
(E> 452.2 square units \

3. Multiple Choice Find the measure of the
central angles of a regular polygon with 18

sides.
A 10° B 20° «© 25°
D 30 E 40

4. Multiple Choice Find the perimeter of the
regular hexagon. Round to the nearest tenth
necessary.

96 units
83.1 units
166.3 units
48 units
100.5 units

=

L

, if

Copyright © McDougal Littell Inc.
All rights reserved.

5. Multiple Choice Find the area and perime-
ter of a square with a diagonal of 10 inches

A A=250in3 P =141in.
B A=283in2 P =50in.
€ A=50in2 P = 283in.
D A=56.6in2 P = 100in.
(E A=100in2 P =56.6in.

6. Multiple Choice Find the area of the shad-
ed region. The octagon is regular. Round to
the nearest tenth, if necessary.

(A> 51.1cm?

‘B’ 408.5cm?
C 204.2cm?
(D> 289.0 cm?
E> 578.0 cm?

12 cm

(B>

{
\.

m

Quantitative Comparison In Exercises 7
and 8, use the diagrams below to choose
the statement that is true.

(A~ The value in column A is greater.
8> The value in column B is greater.
The two values are equal.

The relationship cannot be determined
from the given information.

Regular
Polygon B

Regular
Polygon A

Column B
Apothem of B
Area of B

Column A
Apothem of A
Area of A

Geometry
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For use with pages 677682

1 13 Standardized Test Practice

GA QcCcC: 30, 31, 32, 36,
37

GHSGT: 26, 27

TesT TAKING STRATEGY When checking your work, try to use a method other than
the one you originally used to get your answer. If you use
the same method, you may make the same mistake twice.

1. Multiple Choice A heptagon has one side
length of 15 inches. Another similar heptago

Find the ratio of the perimeters of the smalle

-

: to the larger heptagon.

{.—’_ A 16:25 ‘(B 45 © 15:12
.5': ‘D 25:16 E 54

2. Multiple Choice What is the ratio of the area

heptagon in Exercise 1?

A 16:25 @B 45 T 15:12
D 25:16 E> 54

3. Multiple Choice Find the ratio of the
perimeters of the larger triangle to the smallg

triangle.

5 3
A 259 B> 9:25 © 53
D 35 E 915

4. Multiple Choice A regular hexagon has an
area of64 cm?. Find the scale factor of this
hexagon to a similar hexagon with an area o

121 cmZ.
A 64:121 B 8:11 © 12164
@D 11:8 E_ None of the above

5. Multiple Choice The ratio of the lengths of
two equilateral triangles is 4:9. What is the
ratio of their areas?

has a corresponding side length of 12 inches.

-

=

1

of the larger heptagon to the area of the smaller

er

A 49 ® 94 > 23
‘D> 16:81 (E~ 81:16
Geometry
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6. Multiple Choice A large gazebo is shaped
like a regular octagon. It has sides of length
12 feet and an area of ab@96 ft. Find the
area of a similar gazebo that has a perimeter
of 64 feet. Round to the nearest tenth, if
necessary.

A 309.3ft2 B 130.5ft2
© 261ft2 D 116ft2
(E> 1566 ft2

7. Multiple Choice A regular pentagon has a
perimeter of 25 m and an aread@{75 m?.
Find the perimeter of a similar pentagon with
an area ofl75 m.

“A> 100 m B> 75m
D> 45m E  50m

i

> 25m

8. Multi-Step Problem Use the diagram of the
rectangular swimming pool and deck area to
answer parts (a)—(e). The rectangles are
similar.

90 ft
[INERNNNREENENERERN
60 ft

30 ft 20 ft

a. What is the area of the pool?
b. What is the area of the deck?

¢. What is the ratio of the area of the pool to
the area of the deck?

d. How many feet of fencing is needed to go
around the deck?

e. If you paid $750 for 125 feet of fencing in
your front yard, and you are using the
same fencing for the pool area, how much
should it cost?

Copyright © McDougal Littell Inc.
All rights reserved.
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For use with pages 683-689

1 14 Standardized Test Practice

GA QCC: 1, 30, 31, 32,
37

GHSGT: 2, 4,6, 7, 26, 35

TesT TAKING STRATEGY Always look for shortcuts that will allow you to work
through a problem more quickly.

1. Multiple Choice Find the circumference of
a circle with a diameter of 16 in. Round to th
nearest hundredth.

(A> 25.13in. (B> 50.27in.

‘€ 50.26in. D> 25.14in.

(E> 201.06 in.

2. Multiple Choice Find the radius of a circle

with a circumference of 60 m. Round to the
nearest hundredth.

A 9.55m B> 4.37m
@© 19.10m D> 19.09 m

(E> 9.54m

3. Multiple Choice Find the circumference of
the circle. Round to the nearest hundredth.

(A> 9.43 cm
B> 9.42cm
C 28.26 cm
D> 18.85cm

(E> 28.27 cm

4. Multiple Choice Find the length oAB.
Round to the nearest tenth.

A 6.5 A
® 14.2
> 131
D 83

E 6.6
B

5. Multiple Choice Find the radius of® C.
Round to the nearest tenth.

A 247 32.3
B 494 v
«c 123

D 53.1

(E. 26.5

Copyright © McDougal Littell Inc.
All rights reserved.

7. Multiple Choice Find the values of andy.

6. Multiple Choice Find the circumference of

OA

A> 103.68 7.2

B 2592 ’

© 489 Q
3

‘D> 50.4 2

(E) 51.84 S
-—)

A x=21,y=48
(B x=25y=14
(C> x=25y=48

‘D x=3ly~48
(E. x=3lLy~14

A @By -9

220°
C

(5x — 15)°

8. Multiple Choice Find the perimeter of the
region bounded by the circular arcs and line
segments. Round to the nearest hundredth, if
necessary.

A 114.85 3
® 77.15

¢ 102.8 12
(D 46.85 3

E 66.85 I

9. Quantitative Comparison Consider the
circumference of the two circles
described below. Choose the state-
ment that is true.

(A~ The quantity in column A is greater.
(B> The quantity in column B is greater.
(© The two quantities are equal.

‘D> The relationship cannot be determined
from the given information.

Column B
Circle with diameter|4

Column A
Circle with radius 4

Geometry
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For use with pages 691-698

1 15 Standardized Test Practice

GA QcCcC: 30, 31, 32, 37

GHSGT: 6, 7, 26, 27, 35

TesT TAKING STRATEGY Do not panic if you run out of time before answering all of

the questions. You can still receive a high test score with-
out answering every question.

1. Multiple Choice Find the area of a circle

with a diameter of 7 inches. Round to the
nearest hundredth.

(A> 15394in2 (B> 11.0in.2
©> 4398in2 ‘D> 19.24in.2
(E> 38.48in.2

. Multiple Choice Find the radius of a circle

with an area 066.5 cm?. Round to the near-

est tenth.
(A 92cm (B 5.3cm
© 2.3cm ‘D 4.6cm
(E> 10.6 cm

. Multiple Choice Find the circumference of

a circle whose area i 0 m?. Round to the

nearest tenth.

(A 454 m (B> 35.4m
C> 159 m D 17.7m
(E> 31.8m

4. Multiple Choice Find the area of the sector

shown in the diagram. Round to the nearest
tenth.

A 345ff
36.1f¢
12.0f¢
18.1 f¢
28.6 fE

>

) -
) @

115°

c

=
AN

. Multiple Choice A birthday cake is cut into

16 equal pieces. If the cake has a diameter
14 inches, what is the area of one piece of
cake? Round to the nearest hundredth.

(A> 3848in2 B 19.2in.2
(C 55in? (D> 14.36in.2
E> 9.62in2

Geometry

Georgia Standardized Test Practice Worklbook

6. Multiple Choice Find the radius of®© C, if
the area of the shaded regiom¥s5 cm?.

‘A 7cm 85°
@ 7.5cm

(C> 8cm

D 8.5cm

E> 9cm

L=

7. Multiple Choice Find the area of the shaded
region. The three triangles are regular. Round

to the nearest tenth.
(A> 67.7cm?
B> 35.2cn?
€ 39.3cm?
D 46.1 cm?
E> 56.9cm?

4.33cm

Quantitative Comparison In Exercises 8
and 9, use the diagram below to choose
the statement that is true.

"A> The value in column A is greater.

(B> The value in column B is greater.
(C> The two columns are equal.
D The relationship cannot be determined
from the given information.
Given: A
B
QB bisectsZ AQC. %
A\,
Column A Column B
g. | The area outlined The area outline
by ABKJ by JQL

The area of the
shaded region

g. | The area of the circle
with radiusJQ.

Copyright © McDougal Littell Inc.
All rights reserved.
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For use with pages 699-705

1 16 Standardized Test Practice

GA QCC: 1, 30, 31, 32,
37

GHSGT: 2, 4,7, 10, 26

TesT TAKING STRATEGY Sketch graphs of figures in your test booklet to help you

solve the problems.

In Exercises 1 and 2, use the diagram
below.

A B c D E F

e —————+
0 4 8 12 16 20 24

1. Multiple Choice Find the probability that a

point chosen at random &t is BD.
A 20% B 25% C 30%
D 35% E 40%

2. Multiple Choice Find the probability that a
point chosen at random @t  is 6D.
Round to the nearest hundredth.

A 0.15 (B> 0.18 @© 0.25
@D 0.27 ‘E’ 0.45

3. Multiple Choice Find the probability that a
point chosen at random in the regular triangl
lands in the shaded region.

25%
30%
33:%
40%
50%

(4]

mo o ®@>

6

4. Multiple Choice Find the probability that

a point chosen at random lands in the shaded
region. Round to the nearest tenth, if necessary.

39.3%
60.7%
64%
36%
37.6%

CAD
LA

<
/

1N

=
PN

moeo®

Copyright © McDougal Littell Inc.
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5. Multiple Choice Find the probability that a
point chosen at random in the circle lands in

the shaded region. Round to the nearest tegth

.y

6. Multiple Choice Find the probability that a

6.9%
26.8% o\ [65° Q
65 g
50.0% 3
®
55.6% N
-
27.8% =

point chosen at random in the hexagon lands in
the shaded region. Round to the nearest hun-
dredth.

A
B\
D

/E\
{ 1
B

5.35%

21.36%
10.68%
38.28%
69.14%

7. Quantitative Comparison Use the
diagram of the game board below. A
point randomly chosen on the circle is
worth the number outside the sector.

A point landing in the inner circle is
worth double the outside value. Choose
the statement below that is true about
the given number.

(A> The value in column A is greater.
B~ The value in column B is greater.
.C> The two values are 8 2
equal.
g _ _ 5 7
(D> The relationship
cannot be
determined from 6 4
the given information. 3 3
Column A Column B

Probability of
getting 4 points

Probability of
getting 3 points

Geometry
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For use with pages 719-726

Standardized Test Practice

GA QCcC: 3, 30, 33

GHSGT: 20, 26

TesT TAKING STRATEGY Work as quickly as you can through the easier sections, but
avoid making careless errors on easy questions.

1. Multiple Choice Which of the figures shown
is nota polyhedron?

7 N
7/ N
A 1only B> Il only
‘C> il only D landll
@& lland Il

2. Multiple Choice The polyhedron below has
how many face¢F) and edgds?

(A F=6E=18 I

B> F=6,E=24
© F=8E=18
D F=8E=24
E. F=8E=30
3. Multiple Choice The polyhedron below has
how many vertices?
(A 14 B 15
© 16 D 17
(E> 18

4. Multiple Choice The solid below is best
described as a

A convex,
regular polyhedron.

convex, nonregular
polyhedron.

©

e

nonconvex,
regular polyhedron.

o

nonconvex, nonregular polyhedron.
none of these

m
L

Geometry
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5. Multiple Choice Use Euler's Theorem to
find the number of faces when a polyhedron
has 8 vertices and 12 edges.

A 4 (B> 6 © 8
D 10 E 12

6. Multiple Choice Which
is the best description OT

the cross section of the
figure shown?

A circle j

(B> square /
(C> rectangle

D oval (E~ pentagon

7. Multiple Choice The name of the regular
polyhedron shown is

CA> tetrahedron.
(B> octahedron.
@ cube.

(D’ dodecahedron.
CE> iscosahedron.

8. Quantitative Comparison Choose the state-
ment below that is true.

CA> The value in column A is greater.
(B> The value in column B is greater.
The two values are equal.

N V%
(D> The relationship cannot be determined
from the given information.

Column B

The number of
vertices on a soligd
with 22 faces,
having 16 squares
and 6 triangles

Column A

The number of
vertices on a solid
with 15 faces,
having 9 hexagons

and 6 squares

Copyright © McDougal Littell Inc.
All rights reserved.
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For use with pages 728-734

122 Standardized Test Practice

GA QcCcC: 3, 30, 33, 37

GHSGT: 9, 20, 26, 35

TesT TAKING STRATEGY Make sure that you are familiar with the directions before
taking a standardized test. This way, you do not need to
worry about the directions during the test.

1. Multiple Choice The best mathematical
name of the solid is

A right prism.

I

I
right rectangular pris :
cube. ,L
right pentagonal prismy

right hexagonal prism.

2. Multiple Choice How many lateral edges
does the figure in Exercise 1 have?

A 4 ® 5 © 7
‘D 15 (E- 10

3. Multiple Choice Find the lateral area of the
right prism shown.

(A> 105 nt
90 n?
85 n?
74 n?
mant | S meel

3m 7m

5m

4. Multiple Choice Find the surface area of the
regular right prism.

‘A 215in2 :

‘B> 160 in2 ; 8in.
€ 105in? _-Y.

D 187.5in 1 -

(E) 270in? 4in.

5. Multiple Choice Find the surface area of a
right rectangular prism with a height of
6 inches, a length of 2 inches, and a width

of 8 inches.
A 96in2 (B> 120 in2
@© 152in2 @O 128in2 E~ 56in?

Copyright © McDougal Littell Inc.
All rights reserved.

6. Multiple Choice Find the surface area of
the right cylinder. Round to the nearest

hundredth. L ITN—s4in.
A 83127i  |>—r
(B> 252 in2
) . 15in.
(C> 395.84 in?
D 506.68 in  _
' ~
"E> 451.26 ir? ~

7. Multiple Choice Use the diagram to solve
for the value ok given that the surface area
of the figure is 286 if. .

A 14 in. I
B> 12in. !

I X
© 6in. :
‘D 8in. I
B B -
\E,/‘ 7 In. s 5 in.

9in.

Quantitative Comparison In Exercises 8 and 9,

ZlL 491deyn

use the solids to choose the statement below that

is true.

The value in column A is greater.
The value in column B is greater.
The two values are equal.

The relationship cannot be determined
from the given information.

Column A Column B

(2 | o

I ;
10 -+
z N

67

NS
|

Lateral area Lateral area

Surface are

o))

Surface area

Geometry
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For use with pages 735-742
TeST TAKING STRATEGY

For Exercises 1-3, use the diagram below.

' 5cm

5cm

1. Multiple Choice Find the slant height of the
pyramid.

A 4.5cm ‘B> 5.5cm
‘C> 6.5cm D> 6cm
E&> 7.8cm

2. Multiple Choice Find the lateral area of the
pyramid.

"A> 57.5cm (B> 65 cn?
© 325cn D 78cn?
(E> 90 cn?

3. Multiple Choice Find the surface area of
the pyramid.

A 575cm (B> 65cn?
C> 325cm ‘D 78 cn?
(E> 90 cn?

4. Multiple Choice Find the slant height of the
cone. Round to the nearest tenth.

A 20.0 B 10.6
© 89 D 144
B 71

123 Standardized Test Practice

Geometry
Georgia Standardized Test Practice Worklbook

GA QcCC: 3, 30, 33, 37

GHSGT: 9, 20, 26, 35

If you are not satisfied with your SAT score, remember that
you can take it again.

5. Multiple Choice Find the surface area of
the cone. Round to the nearest tenth.
A 317.0nm
B 2417 nm
(C 2394t

D> 278.2 ¢
B> 45243

6. Multiple Choice Use the diagram to solve
for x andy when the surface area is 138.23 m .

A> x=98m,y=10m
B> x=11m,y=108m
© x=8my=77m

D x=108m,y=10.6m
E x=20m,y=199m

7. Multiple Choice Find the surface area of
the solid. The cylinder and cones are right.
Round to the nearest tenth.

(A 716.3 M 6m
B> 867.1n%
15
© 1168.7 m
‘D 1055.6 M
6m
E> 9425 8m

8. Multi-Step Problem A regular pyramid has
a triangular base with a base edge of 6 inches,
a height of 10 inches, and a slant height of
10.33 inches.

a. Sketch the solid.
b. Find the lateral area.
c¢. Find the surface area.

d. Double the lengths of the base edge,
height, and slant height. What is the ratio
of the surface area of the smaller pyramid
to the larger pyramid?

Copyright © McDougal Littell Inc.
All rights reserved.
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For use with pages 743-749

TesST TAKING STRATEGY

124 Standardized Test Practice

GA QCC: 1, 3, 30, 33,
37
GHSGT: 2, 4,9, 20, 26,
35

If you find yourself spending too much time on one test

question and getting frustrated, move on to the next
question. You can revisit a difficult problem later with a

fresh perspective.

1. Multiple Choice What is the volume of a

prism with a rectangular base, with sides of 5

feet and 6 feet, and a height of 4 feet?

A 60 ft B 240 ft
©> 120f8 D 180 f8
‘E> 480 fe

2. Multiple Choice Find the

I

value ofx if the right prism 1

has a volume of 24 #n . :

] 6
A 1m B 2m : m
T 3m™D 4m '
| 1=
(B> 5m 7 X
2m

3. Multiple Choice Find the volume of the
right cylinder. Round the answer to the

nearest hundredth. ———<— 45
N [T
A 324591 il
B> 216.97 f8
7 12.3 ft
C> 1996.22 f
(D> 681.64 f? |
(B> 272655 f <«

4. Multiple Choice Find the volume of a prism
that has a height of 10.5 m and has a right

triangle for a base. The legs of the triangle are

5 m and 7 m. Round answer to nearest
hundredth.

(A> 183.75
€ 367.5n% €r)
(E> 180.04 nd

(B> 225.80 m
316.14 i

5. Multiple Choice A cylinder has a radius of
24.6 in. and a volume of 29,4683n. . Find its
height.

A 145in. ® 155in. ¢ 15in.

D> 16in. (E> 16.5in.

Copyright © McDougal Littell Inc.
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6. Multiple Choice Find the volume of the
oblique prism.

(A> 156 cn?

(B> 144 cn? 8cm
(C> 180 cnt

D 62.4cn?

‘E> 124.8 cnd

10 cm

A

5cm 6cm

7. Multiple Choice Find the value ok if the
volume of the prism is 105 ém .

A> 2cm -
‘B> 3cm g
T
@© 4cm 8
=
@ 5cm n
(E> 6cm

10 cm

8. Multiple Choice Find the value oX, if the
volume of the cylinder is 301.6 . .

A 1.5in.
@ 3in.
C 4.5in.
D 5in.
E 6in.

9. Multi-Step Problem You have two
containers. One is a cylinder with a height of
15 inches and a diameter of 10 inches. The
other side is a cube with sides of 12 inches.

a. Sketch the containers.
b. Find the volume of the cylinder.
c. Find the volume of the cube.

e

How many gallons of water are needed to
fill the cylinder? Hint: 1 gallon of water
is 0.1337 ft .)

Geometry
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125 Standardized Test Practice | GHsGT: 4,9, 20 26,35

For use with pages 752-758

GA QCC: 1, 3, 30, 33,
37

TesT TAKING STRATEGY The mathematical portion of the SAT is based on material
taught in your high school mathematics courses. One of
the best ways to prepare for the SAT is to keep up with
your regular studies and do your homework.

1. Multiple Choice Find the area of the

base of the pyramid. The base is a regular

hexagon. Round to the nearest tenth.

187.1 in?
432.0 in?
374.1 in?
249.4 in?
498.8 in? y-15in.

12 in.

2. Multiple Choice Find the volume of the
cone. Round to the nearest tenth.

A

1470.3 in?
545.3 in3
1960.4 in?
490.1in3
5881.1 in

3. Multiple Choice Find the volume of the
pyramid. Round to the nearest tenth.

33.3cnd
141.4 cni
100 cn#
47.1 cni
37.5 cnd

5cm

a7

5cm

Geometry
Georgia Standardized Test Practice Worklbook

4. Multiple Choice Find the value ok if the
volume is 113.1 th Round to the nearest
tenth.

A 1.7m
B> 3.0m

12 cm
€ 31m
D 1.8m

(E> 2.4m 2 —

Quantitative Comparison In Exercises 5 and 6,
use the diagram of the solids to choose the state-
ment below that is true about the given values.

(A> The value in column A is greater.
(B> The value in column B is greater.
© The two values are equal.

‘D> The relationship cannot be determined
from the given information.

Column A Column B
! i”i ! 15 in.
+
12 in. m
10 in.
5. Area of base Area of base
6. \Volume \Volume

Copyright © McDougal Littell Inc.
All rights reserved.
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For use with pages 759-765

126 Standardized Test Practice

GA QcCcC: 3, 30, 33, 37

GHSGT: 9, 20, 26, 35

TesT TAKING STRATEGY Staying physically relaxed during the SAT is very
important. If you find yourself tensing up, put your pencil
down and take a couple of deep breaths. This will help you

stay calm.

1. Multiple Choice If a plane contains the cen-
ter of a sphere, then the intersection is called

A~ hemisphere. (B> diameter.
> semi-circle. D great circle.
E~ half-circle.

2. Multiple Choice Find the surface area of the
sphere. Round to the nearest tenth.

175.9 in?
615.6 in?
307.8in?
461.8 in?
1436.8 ir?

7in.

3. Multiple Choice Find the volume of the
sphere. Round to the nearest tenth.

44,602.2 m
1520.5 ni
1393.8 ni
5575.3 nd
1858.4 ni

A
22m

4. Multiple Choice What is the radius of a
sphere with surface area of 1963.5%2m

“A> 1lcm (B> 12.5cm
© 11.5cm D 12cm
(E> 13 cm

5. Multiple Choice Find the circumference of
the great circle if the volume of the sphere is
179.6 n¥ . Round to the nearest tenth.

A 22m (B> 23.8m
© 11m D 119m
(E~ 26.6m

Copyright © McDougal Littell Inc.
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6. Multiple Choice Find the surface area of the

hemisphere. Round to the nearest tenth.
706.9 cm

1413.7 cm
2120.6 cm
3534.3 cM
7775.5 cm

a

15cm

Quantitative Comparison In Exercises 7 and 8,
use the diagrams to choose the statement that
true about the given values.
A
B>
C
\D/‘

The value in column A is greater.
The value in column B is greater.
The two values are equal.

The relationship cannot be determined
from the given information.

Column A Column B

5cm 6 cm

Surface Area Surface Area

Volume \olume

Geometry
Georgia Standardized Test Practice Workbook

ZlL 491deyn



LESSON

GA QCcC: 3, 30, 33

127 Standardized Test Practice | GHsGT: 20,26 35

For use with pages 766-772

TesT TAKING STRATEGY When checking your work, try to use a method other than
the one you originally used to get your answer. If you use
the same method, you may make the same mistake twice.

In Exercises 1-3, use the similar figures 6. Multiple Choice Which solids below are
below. similar?
; , , l. Il.
| I 10
45 =
-4 | NN
4 ) —----B
7/ 4
Figure A 3 2 3
6 2
Figure B 3
1. Multiple Choice Find the scale factor for
solid A to solid B.
A 12 ® 13 © 14
N . R B
‘D 2:3 E 25 (A> land Il @ landll
€ lland Il D I, 1, and Il
2. Multiple Choice Find the ratio of the B> none of these
surface areas for A to B.
A 49 B 19 € 425 7. Multi-Step Problem Use the similar solids
D 14 (E> 1:16 shown below.

3. Multiple Choice Find the ratio of the T _+9.9in. %_13_2 in.
volumes for A to B. I I
i I'A |15in. I
A 127 B 18 c> 827 : =
, = I
(D> 8:125 E 164 L=+ I
> I
4. Multiple Choice Two prisms are similar ‘xb/""
with a scale factor of 1:4. Find the volume of
the first given that the volume of the second |is a. What is the scale factor of prism A to
2400 fe. prism B?
A~ 600 fe B 37518 b. What is the height of prism B?
(C> 150 f8 D 751t c. What is the volume of prism B if the
‘E> 300 fé volume of prism A is 367.5 if2
d. What is the surface area of a third prism
5. Multiple Choice Two pyramids are similar that is similar to A and B, and has a
with a ratio of surface areas of 25:64. Find volume of 45.94 iRk?

the volume of the second pyramid given that
the first has a volume of 250°m

(A> 61.0n? ‘B> 640 n?
L 1024 n¥ » 97.7n¥
(E> 4194 n?
Geometry Copyright © McDougal Littell Inc.
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Georgia End-of-Course Practice Test

For use after Chapters 1-12

1. Multiple Choice Find the length oAC if
ABis 8,BCis 13, andB is betweem andC.

A 5 ® 8 © 13
(D 18 (E> 21

2. Multiple Choice Find the measure af 1.
A 48 B 50°

‘CcC 522 (D 32
E 4z N e

3. Multiple Choice Which property of equality
matches the conditional statement “If
WX = XY andXY = YZ, thedWX = YZ? "

Addition property

(B~ Symmetric property
(C> Reflexive property
(D~ Substitution property

(E_ Transitive property

4. Multiple Choice Find the values of andy
whena|| b.

A x =273,
y =22

B> x =30,
y =22

(€ x= 273,
y =435

D x=30,y=435
E x=230y=21

5. Multiple Choice Find the measures afl
and /2.

A ms1 = 80°, 50°
mz2 = 130°

B> ms1l = 50° 1 9
mz2 = 100°

> msl =65, ms2=115°
m£1 = 65°, m£2 = 100°
m£1 = 50°, m£2 = 115°

N
m @ [

Copyright © McDougal Littell Inc.
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6. Multiple Choice What is the value of?
A 5 @® 45

4 O 1 4x + 6
8

6x — 3

m o

bx + 2

7. Multiple Choice XY is the perpendicular
bisector ofAB. FindAO andAY.

‘A AO = 12,
AY =4 Y
B AO =8,
AY = 4 2y + 1 O\3y+7
@© AO = 16,
AY = 4 ) (
D rO-8, A( x )68
AY = 19 §X+4 §X+12

(E- AO = 16, AY = 19
8. Multiple Choice In the diagram, the angle
bisectors o/AABC meet at poibt. Find DG.
@A 10cm
B> 15cm
©> 20cm
D> 30cm

E 35cmce G| B

9. Quantitative Comparison Choose the
statement below that is true.

(A The value in column A is greater.
B The value in column B is greater.
> The two values are equal.

(D> The relationship cannot be determined
from the given information.

5(y + 2)°

Column Al Column B

X y

110°

55°

Geometry
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Georgia End-of-Course Practice Test

For use after Chapters 1-12

10. Multiple Choice Name the type of transfor-
mation and the coordinates corresponding ta
point A’

A

rotation about y
0,1); (-1, -9 A B
(B~ rotation about
(1,-1); (3, -9 1
> reflection in line 1
y=-1(-1-5
(D> reflection in line
y=2(2 -5
(E> translation in line
y=-1(2 -5

w1

C/

11. Multiple Choice Given pointsA(1, 2) and
B(5, 6), find point C on thex-axis so that
AC + BC is a minimum.

A (30 B (20 C
D (0,3) E (0,2

(3,0

12. Multiple Choice The coordinates oA ABC

areA(3, 2), B(—1,6), andC(—2, —3). The
component form oHJ i$2, —6). What
are the coordinates ZfA'B'C"  after the

translation using—T]?
A A5, —-4),B(1, -12),C4, -9

@B A’5,4),B11,0),C0, -9

C A(5,8),B11,—-12),C(—4,3)

D A5 —4),B(1,0),C0, -9

(E> A6, -12),B(—2, —36),C(—4,18)

13. Multiple Choice Translation 1 mapé to
A’ Translation 2 maps’ td”. What transla
tion mapsAto A”7?

Translation 1:(x,y) - (x — 2,y + 6)
Translation 2:(x,y) - x— 1,y — 2)

A (XY - x=1Ly+4
B (xy) - x=3y+4
C Xy - x+2y—12)
D xy) - x+1,y-—29)
E Ky - x=3y-8
Geometry
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: . 6 3
14. Multiple Choice Solvex+ 5T x_1
A 5 B 7 «© 3
D 6 E 5.3
AB AC
15. Multiple Choice In the diagram-— BD ~ EC"
Find the length ofAE.
A 8 B 4 D4
C 55 D 12 B
3 6
e aal
E 133 £ & 5 )

16. Multiple Choice ABCD ~ EFGH. The
perimeter ofABCDis 16. What is the length

of BC?
E 8 F
N
H 12 G

A 35 ® 2.5
D 4 ® 5

A B

(EEAN

D (o

C 6

17. Multiple Choice Find the length ok in the
diagram.

A 6.9m
(B> 84m
(C> 5.25m
(D 6.25m X

E  10.5m 1om — 6m

14 m

18. Multiple Choice Find the value ok. Round
to the nearest tenth if necessary.

@A 72 B 5.6
© 133D 438 & . 6
® 75

10

Copyright © McDougal Littell Inc.
All rights reserved.



Georgia End-of-Course Practice Test

For use after Chapters 1-12

19. Multiple Choice Find the
value ofy. Round to the nearest
tenth if necessary. 16

(A> 5.7 ‘B> 80
C 126D 13.9
(E> 115

20. Multiple Choice Find the value ok that
makes the triangle obtuse.

A 278 B 715
) 17
C 8V13 b 714 X

B>
E 8J7 >

21. Multiple Choice The side of an equilateral
triangle is 11 cm. Find the length of an alti-
tude of the triangle.

A F (B> 83 c 78

D B2 B 23
22. Multiple Choice Find the area of the trian-

gle. Round to the nearest tenth.

(A T77.6cm?

B 47.3cm?

(€ 94.6 cm?

(D> 155.1 cm? 38°
‘E> 825cm?

11 cm

23. Multiple Choice Find m£A. Round to the
nearest tenth.

A8
‘A> 281° (B 619
© 486° D 59.2° o5 6 225
‘B 414
c

24. Multiple Choice If LK is tangent taJ,
find JL.

A 7 B 8
9 D 10

E 11 3

Copyright © McDougal Littell Inc.
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25. Multiple Choice Find the value ok.

\E/ 25 (B 20 (7X+ 15)0
C 10 D@ 15
E 45

(3x + 15)°

26. Multiple Choice Findmz1.

A 90° B> 45° \

> 75°D 60°

E 15 120° | >
27. Multiple Choice Find the values ot andy.
Round to the nearest tenth.
3
y

A x=10,y=77
B x=12y=77
© x=194,y=71
D x=10,y=71

E x=12,y=171

28. Multi-Step Problem The center of a circle
is (h, —2) and its radius is 4.
a. If another point on the circle (8, 2),
what is the value dfi?

b. What is the equation of the circle in
standard form?

¢. Graph the equation.

29. Multiple Choice What is the sum of the
measures of the interior angles of a convex
17-gon?

(A 2340° B 2520° N
‘D> 2880° E> 3060°

2700°

30. Multiple Choice Find the area of the regu-
lar pentagon. Round to the nearest tenth.
(A 488 B 546

«C 619 O 785
(E  60.0

Geometry
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Georgia End-of-Course Practice Test

For use after Chapters 1-12

31. Multiple Choice A regular octagon has an
area of8l ft2. Find the scale factor of this
octagon to a similar octagon with an area of

625 ft2.
A 35
D> 8:625

W

B>

9:25 © 27125

(E> 64:390,625

N =%

32. Multiple Choice Find the area obC.
Round to the nearest tenth.

A 89.8cm? 8.1cm
(B> 44.9cm? @
€  80.1cm?

@D 134.7cm?

‘E> 160.2 cm?

33. Multiple Choice Find the diameter oDB, if
the area of the shaded regior8207 in.2.

A 35in. B 7in. -
© 14in. D 49in.
(E> 24.5in.

34. Multiple Choice Find the probability that a

point chosen at random in the circle lands in
the shaded region. Round to the nearest ten
All shaded regions have a central angle equ
to 15°.

A 25% B 30%
£ 333% D 42%
E> 50%

35. Multiple Choice Find the surface area of
the sphere. Round to the nearest tenth.

(A~ 301.6in?
7238.2in.2
603.2in.2
1809.6in.2
3619.1in.2

°®

&

th.
Al

Geometry
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36. Multiple Choice Find the volume of the
sphere in Exercise 35. Round to the nearest
tenth.

(A> 301.6in3
€ 603.2in3
(E> 3619.1in3

Quantitative Comparison In Exercises 37-39,
use the diagrams below to choose the
statement that is true about the given
value.

@® 7238.2in3
(D> 1809.6in.3

N 4

C(A> The value in column A is greater.
B~ The value in column B is greater.
(C> The two values are equal.
(D> The relationship cannot be determined
from the given information.
Column A Column B
8m
37. Lateral area Lateral area
38. Surface area Surface area
39. Volume \Volume

Copyright © McDougal Littell Inc.
All rights reserved.



ANSWERS

Chapter 1
Section 1.1

1. C 2.B 3.C 4D 5.B 6.C
7. a.row5:1,4,6,4,1; row6: 1,5, 10, 10, 5,

1 b. The first and last number in each row is 1.

Every other number in each row is formed by
adding the two numbers immediately above the
number. c¢. Each row has one more entry than
the previous row.

Section 1.2
1. D 22E 3.B 4 E 5. E 6.B 7.B
8. B

9. a. b.
B c
Z 7 :
A D
G
c. d. rectangular prism
B
‘F
AfF A b 1°
H
Section 1.3

1..E 2B 3. D 4B 5 A 6.C 7.C

8 A 99C 10.D 1. A 12. A 13. D
Section 1.4

. C 2.A 3.D 4 C 5.B 6.B 7. A
8. C

Section 1.5

1. C 2.B 3.D 4 A 5.B 6.B 7.C
8. E 9.C 10. B

Section 1.6

. D 22D 3.D 4.C 5.C 6.B 7.B
8. C 9.C 10.C

Copyright © McDougal Littell Inc.
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Section 1.7

. C 2.B 3.D 4 C 5. E 6.E 7.C
8. D 9.C 10. A

11. a. 2000in.2 b. 180in.

c. 2279in.2; 192 in.; about 14.0%

Chapter 2
Section 2.1
1. C 2.B 3. A 4 D 5. E 6.B

7. a. If there are three noncollinear points, then
there is exactly one plane containing those points.

b. If there is exactly one plane containing three
points, then they are noncollinear points.

c. If there are not three noncollinear points, then
there is not exactly one plane containing them.

d. If there is not exactly one plane containing
three points, then the three points are not non-
collinear. e. yes

Section 2.2
1. E 2.B 3.D 4 A 5.D 6.B 7.D

Section 2.3
1. C 22A 3. E 4 C 5.D 6.C

7. a. If you get caught exceeding the speed
limit, then you will get a speeding ticket.

b. If you get a speeding ticket, then you will pay
higher insurance ratese. If you do not get a
speeding ticket, then you do not get caught
exceeding the speed limitg -~ ~p

d. If you get caught exceeding the speed limit,
then you will pay higher insurance rates; state-
mentp must be true fog andr to be true.

Section 2.4
1. E 2B 3.C 4B 5 A 6.D
7. a. Angle addition postulateb. given

c. Substitution property d. given
e. Substitution property f. Distributive property

Geometry
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Answers continued

b. Statements Reasons
g. Given thatm/ABE = mZEBC and 1l.aln 1. Proven in part (a).
m/EBD = mzDBC, it can be shown that 2. /3=/4 2. Alt.int. 4
m/ABE = 2(m/EBD) using the angle addition Theorem
postulate, substitution property, and distribution 3. Z4is arightangle.| 3. Transitive Prop.
property of equality. of =
Section 2.5 4. bln 4. Def. of perp. lines
1.E 22D 3 C 4B 5E 6.C 7.B Section 3.6
8. B .B 2.D 3.C 4 C 5.E 6.A 7. A
.B 9. B
Section 2.6 8 9
.D 22E 3D 4C 5 A 6B 7.D Section 3.7
8. B 9.C 10. A .B 22E 3.C 4 A 5. A 6.C 7. E
8 a. [ p b.y= %x + %
Cha!)ter 3 BE. 3] c.y=-3&+7
Section 3.1 M A(‘Z 1\) d. y=—3x+ 17
1.E 2E 3B 4D 5C 6.C 7.E T T 7 e.m=1
8. A
9. a. EH, FG, BC b. DC, AB, AE, Di Chapter 4

c. AB, EF, BC, FG d. all of parts () and (c) | Seetion4.1

1. E 22C 3.D 4.C 5.D 6.D 7.B
Section 3.2

8. E 9.B
1. B 2.D 3.C 4 E 5.C 6.C 7.B
8 A Section 4.2

1. C 2.D 3.B 4. A 5D 6.E 7. A
Section 3.3 3 B
1.E 22C 3.B 4B 5.C 6.C 7. A '
8. C Section 4.3

1. E 22C 3. A 4 A 5.C 6.E 7. A
Section 3.4

8.B 9.D 10.C 11.D

. B 2D 3.E 4B 5 D 6. A 12. Sample answers:

Section 3.5 a. Statements Reasons
.C 2.A 3.E 4 A 5 E 6.D 1. AB=AF,BD =FD | 1. Given
7. Samp|e answers: 2. AD =AD 2. Reflexive Prop.
a. Statements Reasons of Congruence
1. al|b,m| n, 1. Given 3. AADF = AADB 3. SSS Congruence
alm Postulate
2. /1is arightangle.| 2. Def. of perp. lines
3. £3=/1 3. Corresp.s Post.
4. /3is aright 4. Transitive Prop.
angle. of=
5.aln 5. Def. of perp. lines
Geometry Copyright © McDougal Littell Inc.
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Answers continued

b. Statements

Reasons

1. LDAB = ZDAF

2. BC=FE
3. AF + FE = AE;
AB + BC = AC

4. AF + BC = AC

5. AF + FE = AC

6. AE = AC

7. AACD = AAED

c. Statements

1. Corresp. parts of
= triangles are=.

2. Given

3. Segment Add.
Postulate

4. Substitution
property of equality

5. Substitution
property of equality

6. Transitive property
of equality

7. SAS Congruence
Postulate

Reasons

1. CD=ED

2. ABCD = AFED

Section 4.4
1. C 22D 3.B 4.
8. Sample answers:

1. Corresp. parts of
= triangles are=.

2. SSS Congruence
Postulate

D 5A 6.D 7.C

a. Statements Reasons
1. AB| CD, 1. Given
CB||DE,
AB=CD
2. /ABC = /BCD, | 2. Alt. int. Angles
/BCD = 2CDE Theorem

3. LABC = LCDE

4. /BAC = ~DCE
5. AABC = ACDE

b. Statements

3. Transitive prop. of
equality
4. Corresp.4

5. ASA Congruence
Postulate

Reasons

1. AC=CE

2. AC=CE
3. Cis midpoint
of AE.

Section 4.5
1. D 2.C 3. C 4.
8.C 9.A 10. E

Copyright © McDougal Littell Inc.
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1. E

1. Corresp. parts of
= triangles are=.

2. Def. of=
3. Def. of midpoint

C 5.D 6.A 7.B
12.B 13. C

14. a. Statements Reasons
1. £1= /3, 1. Given
/2=/4
2. AG=AG 2. Reflexive
Property of
Congruence

3. AAGC = AAGE

3. AAS Congruence
Theorem

b. Statements Reasons
1. £2= /4 1. Given
2. /BGC = /FGE| 2. Vert. Angles Thm.

3. GC=GE 3.

4. ABEG = FEG | 4.

c. Statements

Corresp. parts of
= triangles are=.

ASA Congruence
Postulate

Reasons

1. GD = GD

2. LAGC =~AGE,

GC=GE

3. m£AGC = m£LAGE

4. m£AGC + m£CGD
= 180°,
m~£AGE + m£EGD
= 180°

5. m£AGC + m£EGD
= 180°

6. LEGD = ~CGD

7. ACDG = LEDG

Section 4.6
1. B 2.D 3. E 4. B
8. D 9 A

Section 4.7

.D 2.B 3.C 4D

8. C

Chapter 5
Section 5.1

1.E 2.C 3. B 4 A

1. Reflexive Prop.
of Congruence
2. Corresp. parts
= triangles are

3. Def. of
congruence

4. Def. of linear
pair

5. Substitution
prop. of equality

6. 2 4 supp. to
same/ are=.

7. SAS Congruence

Postulate

5. A 6.D 7.C

5B 6.E 7. A

Geometry
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Answers continued

Section 5.2

.B 2B 3.B 4 A 5. C 6. E

7. a. circumcenter

b. y c. (4, g)

d. about 2.5 miles

1 X

Section 5.3
. B 2.D 3. E 4. A 5.B 6.C 7. A
8. B 9.D

Section 5.4
1.A 2D 3.E 4 C 5.B 6.C 7.B
8. C

Section 5.5
. C 2.A 3.D 4D 5.B 6.E 7. A
8. A

Section 5.6
1. E 22C 3.D 4B 5 A
6. a. B

A c D

c. 125° d. BC e. m«/BCD # mzZA + m/B

Chapter 6
Section 6.1

.A 2.C 3.D 4D 5 E 6.C 7.D
8. B

Geometry
Georgia Standardized Test Practice VWorklbook

Section 6.2

.C 2.E 3.B 4B 5D 6.E 7. A
8. C

Section 6.3
. E 22D 3.C 4.C 5 C 6.B
7. a. The slope oBD andC i <B8D || AC;
The slope oAD an€B i <A&D || CB.
b. AD = CB = /10, soAD = CB;
CA = BD = /13,s0CA=BD
c. equation forCD: y = 2x — Z;
equation forAB: y = —2x + 14;
lines intersect a(%, 3); CE = ED = 3;
V5

AE=EB=7

Section 6.4

.B 2.B 3.D 4 E 5 E 6.A 7.C
8. D 9.A 10.C

Section 6.5

.B 2.C 3.C 4D 5.D 6.A 7.B
8. A

Section 6.6

.A 2D 3.C 4.C 5.D 6.B

7. a. 3 b. 1 ¢ DG = EF because opposite

sides of rectangle are congruent.
m/ DGF = m/ZEFG = 90° by def. of a rectangle.

m/ EFC + m/EFG = 180° and

m/ DGA + m/DGF = 180° because linear
angles are supplementany/ DGA + 90° = 180°
andmzZEFC + 90° = 180° by Substitution Prop.
of Equality. mZDGA = mZEFC = 90° by
Subtraction Prop. of Equality.

m/A = m/B = mzZC = 60° because regular
triangles have 3 congruent angles.

AADG = ACEF by AAS.

Section 6.7
1. D 2B 3. A 4 C 5.E 6.D 7. A
8. a. 20f€ b. 92in2 e¢. 11.25f8
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Answers continued

Cumulative Review
Chapters 1-6

1.B 2.C 3.C 4. D 5. A 6.B

7. A 8. C 9. a. If you stay up late, then you

are tired. b. If you are tired, then you are
cranky. ¢. ~q - ~p; if you are not tired, then
you did not stay up late.d. If you stay up late,
then you are cranky.10. C 11. E 12. D

13. B 14.C 15. A 16.B 17.D 18. C
9. A 20D 21.B 22.B 23.E 24.D
25. E 26.C 27.C 28.D 29. A 30.D
31.B 32.B 33.B

Chapter 7
Section 7.1

. D 2.C 3.B 4 D 5. B 6. A

Section 7.2

. D 2B 3.E 4.C 5.B 6.E 7. A
8. a. A1, —4), b. A'B’
B'(5, —6),C1(3, —1)

L P
7‘71 1 C' X

\
Y
\
5

c. A’(—1,4), d. A”(3,4),
B”(—-5,6),C"(—3,1) B”(—1,6),C"”(1,1)

B’ y BTy

\ \

A A
\ \
bt 1 o
1x 1 ‘ X

e. (1,0
Section 7.3

1.B 2.C 3.D 4 E 5. C 6.A 7. A

Section 7.4
1. C 2.D 3.B 4 E 5.D 6.B

Section 7.5
1. C 2.A 3.A 4 B 5 D

Copyright © McDougal Littell Inc.
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Section 7.6
.C 2.B 3. E 4 E 5.B 6. A
7. Sample answers:

N
RSS
ReReRel

Chapter 8
Section 8.1

.B 2.C 3.B 4D 5. E 6. E 7.C
8.C 9. A

Section 8.2
. D 2.C 3.C 4D 5. E 6.D 7.C
8. A 9.B 10. C

Section 8.3
1. C 2.B 3.D 4 E 5.D 6.A 7.C
8. C

Section 8.4
1. C 2.B 3.D 4 A 5. E 6. a. 64

b. 3.75 ec. 1% d. 20.3 e. Sample answer:
Show that the ratio of all sides 0.625.

Section 8.5
1. A 2.C 3.D 4 E 5.B 6.C

Section 8.6
. D 22 E 3.B 4 A 5.C 6.B 7. A
8. A

Section 8.7
1. A 2.E 3.C 4B 5. D

Geometry
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Answers continued

A’(2,10), ¢. 6

A B'(6, 12),
ﬂ C6.6)

d. A'(33),
Q B"(33),
c33

e. V2 f 4

Chapter 9
Section 9.1

1.C 2D 3. E 4 A 5B 6.C 7.C
8. a. 98ft b. 17.8ft c¢. 12.3ft
d. AHTG ~ AAHG ~ AATH

Section 9.2
. D 22D 3.B 4 C 5.D 6.D 7. A
8. A

Section 9.3
1. C 2.E 3.B 4 A 5.C 6.A 7.D
8. A 9.B

Section 9.4
. D 2.C 3. A 4 E 5 C 6.C 7.B
8. A

5.2

. . 5 .
9. a. 5/2units b. —==units ¢. - units

2 2
5.3

d. 5 units e. ?units f. 32.2 square units

Geometry
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Section 9.5

.A 2.C 3.B 4 E 5D 6.B 7.C

8. B 9. B

Section 9.6

.D 2.C 3.C 4B 5.E 6.A 7.B

8. A 9.B

Section 9.7

.D 2.A 3.C 4 E 5B 6.A 7.B

8. E

9. a. about 680mi/h; 48.6° NE from horizontal
b. about 361mi/h; 33.8° NW from horizontal

c. 735mi/h; 43.9° NE from horizontal

d. 297mi/h; 42.2° NW from horizontal

Chapter 10

Section 10.1

.B 2.D 3.B 4 E 5D 6.A 7. E
8. a. (23,3 b. (50,3 ¢ (2,0),(573
d. two external tangenty, = —x + 10,

y=-x+1

Section 10.2
1.C 2. B
8. C 9 A

Section 10.3
. D 2. B
8. E 9.C

Section 10.4
1. B 2. C
8. D 9 A

Section 10.5
1. A 2.B
8. B 9. A

Section 10.6

3.D 4D 5 B
10. C

3.C 44 A 5 C
10. B

3.E 4 A 5D
10. B

3.E 4D 5 D

1. E 2.C 3.D 4 C 5 D

8. D

Copyright © McDougal Littell Inc.
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Answers continued

9.a. -1 b. x+12+(y—22=9

c. y d. Sample answers:
AT TN _ . .
/ \ ( 1! 5)’ (0! O)a (51 0)
1/
N TX

Section 10.7
1. B 2.E 3.C 4 E 5.A 6.E 7.D

8. a. v | A4, 6)

% X
—B(=2,-4)
C(10, —4)

b. A (x — 4)2 + (y — 6)2 = 100
B:(x+ 22+ (y+ 4)2?=36
C:(x—102+ (y+ 4)> =36

c. (4,—4)

Chapter 11
Section 11.1

.B 22A 3.C 4D 5D 6.C 7.B
8. E 9.B 10. B

Section 11.2
1. E 2B 3.B 4 A 5.C 6.C 7.B
8. B

Section 11.3

. B 22D 3.C 4B 5.D 6.A 7. E

8. a. 1200ft> b. 1500ft> ¢. 4.5 d. 240 ft
e. $1440

Section 11.4

. B 22 A 3.D 4.C 5 A 6.E 7.D

8. D 9. A

Section 11.5
1. E 22D 3.B 4B 5.E 6.C 7.D
8. B 9.B

Section 11.6
1. D 22D 3.A 4B 5.E 6.C 7. A

Copyright © McDougal Littell Inc.
All rights reserved.

Chapter 12
Section 12.1

1.E 2.C 3.C 4B 5B 6.C 7. E
8. A

Section 12.2
. D 2B 3.B 4 A 5.C 6.D 7. E
8. A 9. A

Section 12.3
1. C 2B 3.E 4D 5. A 6.E 7. E
8. a. b. 92.97 in?
1033 ¢, 108.57 ir?
d 14

[=2]

Section 12.4

1. C 2B 3. D 4 A 5.B 6.E 7.B
8. E
9. a.

12

b. 1178.1in® ¢. 1728.0in
d. about 5.1 gallons

Section 12.5
1. C 2.D 3. A 4B 5. A 6. A

Section 12.6

.D 2B 3.D 4B 5.A 6.C 7.B
8. A

Section 12.7

.D 22A 3.C 4B 5 C 6. A

7. a. 15 b. 20in. ¢ 871.1in3

d. 101.8 in2

Georgia End-of-Course Practice Test
1" E 22D 3. E 4B 5.C 6.A 7. E
8. D 9A 10.C 11.B 12.D 13. B
14. B 15. E 16. A 17.C 18. D 19. D
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Answers continued

20.C 21.E 22. A 23.B 24.B
25. D 26. B 27. A

28.a.3 b. (x— 32+ (y+22=16
C. y

|~

/11 \ x

29. C 30.E 31.B 32. E 33.C 34.C
35. D 36. B 37.B 338. A 39. A
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